DFG FOR 756

Impact of Shocks on Vulnerability to Poverty — Consequences for Development of

Emerging Southeast Asian Economies

Enumerator Guidelines

Household Survey 2013 (5" wave)



Table of contents

L 1= 4 =1 - | 3
O g T Ty 00T 3
0.2 General Rules for the INTEIVIEW .........eiiiiiiiii et aeeee e 3
0.3 Structure of the QUESHIONNAITE ............ooiii e 5
0.4 Preparing the questionnaire prior to the interview ... 5

Section 1: Survey iNformation...........cciiiii e 7

Section 2: Household MemDbers........ ..o 8
D2 B oYU I=T =Y ] o N 4 =T g o1 SR 8
B2 Lo 8 T 4o o R 10
B2 T o 1= o PSR 11
D o o B0 Y =T o oo 12
2.5 Networks, Trust, and Solidarity ..............eeiiiiiiiiiii e 13

Section 3: RiSks and ShOCKS ... s 15
B T ] 3 o TSR 15

R 0t - R SRSR 15
B 70t 1 o T PRSPPI 16
B Tt Y TSP STRPP 17
B L] OSSR 18

Section 4 Land, agriculture, natural reSOUrCEeS ...........cccceeriiiicccirnmrre s 20
g T T o PRSP 20
4.2 AGFICUIUIE ... 21
G B I 1YY (o 1o PP URPT 24

I T I (o o2 (= SRS 24
G 22 V753 (o Tod [q o oo L1 L3 30 25
4.4 Fishing, hunting, collecting gathering ..., 25

Section 5: Off-farm employment...........co i —————_—— 27

Section 6: Non-farm self-employment.............cciii s 28
02 [ = 3 0= o S 28

Section 7: Borrowing and LENdiNg .........coocciiiiiiiiisrrs i ssmss s sssssss s smss e 30
% TSSO PRTRT 30

7.1.1 C: Credit rationing ... ..coio et e e eneeeas 30
7.1.2 D: Default NISTOIY ...t 30
IS I Sl = 1o 4 0117/ T [ PP 30
A = = o o [ o TP 33
IS T =S - 1V o o U PP 35
7.1.6 F: FINANCIAI LIEEIACY ..ceei i ittt e e e eeeeas 36
RS T=T o111 I A0 R T P 36
7.2.1 A: Public transfers and other payments..........oooiiiiiiiii e 36
A B = T 1= U T =T o Lo = 38
A T 1> - 111 o 39
7.3.1 Al TAX PAYMENTS ...ttt e e e s e e e e e e s e neeee s 39
S I S Y £ 11§ =N [ 1Yo I 1= U 40
A B T O U 1 (0 =T = <= 1] o TSR 40

Section 8: Household EXPenditures..........cccviiiiiiiiiinscis s s s 40

85T o 1 oo T SR 42
9.1: Household Wealth........ ... e e e s 42
1S T2 o (o101 g To @] o 111 1= USSP 42

7.1.6 F: FINANCIAI LIEEIACY ...eeeiiiiiiiiieiieie ettt e e e e et e e e e e e e eeereeeaaeeeeanns 43

Y o =T G 44



0 General

These guidelines are for the fifth wave of the household survey to measure vulnerability to
poverty of rural households in Thailand and Vietnam. They are meant to be a set of practical
hints that the interviewers can use in preparation of the field survey and as reference material
during the survey. The guidelines have emerged from the results of the first four waves of the
household survey in early 2007, 2008, 2010 and 2011. Moreover, the data cleaning process
after each of the waves revealed weaknesses in the implementation of the field survey and
sources of misunderstanding on the side of interviewers and respondents. It must be pointed
out however that while the guidelines are a source of background information for field super-
visors and enumerators they cannot answer questions that come up during the survey. There-
fore, the interviewer and/or his supervisor must make a decision in the field (e.g. coding) or
make a respective comment that facilitates decision-making later on. Recurrent problems and
questions should in any case be discussed with survey team leaders, country coordinators or
overall survey coordinators.

0.1 Purpose

The purpose of the questionnaires (Version 5 - 2013) is to measure vulnerability to poverty of
rural households in Thailand and Vietnam. It builds on the four waves of interviews and aims
to extend the panel data by interviewing exactly the same households that have been inter-
viewed in 2007, 2008, 2010 and 2011. As the fourth wave survey, i.e. in 2011, was only col-
lected in Ubon Ratchathani and Thua Thien Hue, you will be provided with a one-page infor-
mation sheet that contains essential information of the household based on the data that were
collected in 2011, while for Buriram, Nakhon Phanom, Ha Tinh and Dak Lak you will be pro-
vided with a one-page information sheet that contains essential information of the household
based on the data that were collected in 2010.

A major output of the questionnaire is to obtain reliable and valid information on the composi-
tion of the household’s income. The income will be calculated based on all of the household’s
income generating activities including agriculture, off-farm employment, non-farm self-
employment, income from saving and lending and from remittances from friends and any per-
sons who permanently live outside the household and who is not a member of the household.
In the survey we do not use a fixed definition of a household, i.e. we do not decide who be-
longs to the household or not. Instead, we ask the respondent — who is normally the head of
the household - to provide information on all people whom he considers to be member of his
household. As a further measure of welfare, household consumption as a total of expendi-
tures for consumption goods, consumption of the household’s own production of farm and
home produced goods and the use value of durable consumption goods will be derived. Be-
yond this, current wealth and debt status, demographic indicators and perceptions of the re-
spondents will be covered.

It is therefore crucial to obtain accurate data on household composition, income generating
activities, close estimates on consumption expenditures and the like.

0.2 General Rules for the Interview

When you start the interview a few general rules need to be observed:

1. Introduce yourself in a nice way and politely inform the respondent of the purpose of
the interview.

2. Ask the respondent if she or he agrees to be interviewed. If she really does not want,
ask her whether you can come later. In that case make a new appointment and in-
form your supervisor.

3. Read out question by question slowly and carefully. Especially recognize the specifi-
cations that have been added to some of the questions. For example, in section 2.1
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11.

12.

13.

14.

15.

16.

you will ask for the marital status of household members. On top of the column where
you are supposed to put the answer it says: “ask only for members > 13 years of
age”. Never ignore such instructions in order to avoid mistakes and annoying the re-
spondent by asking nonsensical questions.

Ask the respondent if she or he has understood the question.

Always try to maintain a good atmosphere, if the respondent gets tired offer to have a
short break

Please write clearly, especially the numbers and the decimal point.

For many questions, answers are coded. Get accustomed to the codes before you
start the interviews. You do not need to learn them by heart but you should be familiar
with them. Therefore, after the training and before the interviews start, read through
the questionnaire at least three times.

There are three specific codes, which you will find as possible answers for many
questions. Nevertheless, they always should be used in caution, and only if no other
answer can be found.

e Code 90 - other, specify: If there is no appropriate code for the answer, you
can use code 90 and specify the answer in words. Avoid to use code 90 (oth-
ers, specify). Try to find the nearest code. If you cannot allocate a response
to an existing category, write down the specification and consult your super-
visor in the evening.

e Code 98 — Respondent does not know the answer or does not want to an-
swer. You should also avoid using this answer.

e Code 99 — not applicable. This can be used in some cases, when there is no
logical answer to the question.

Follow the “skip” or “go to” instructions written in different parts of the questionnaire.
They ensure that you collect sufficiently complete data.

Do not leave out any question. In case the respondent answers that he/she does not
know ask him/her to make an estimate. This is especially important for all quantitative
information that is needed to calculate household income. Take notes wherever you
have the impression that the respondent is uneasy with the estimation.

In case the respondent does not want to give an answer explain again the purpose of
the survey. If he still does not agree to answer use code 98.

Please keep in mind that if we miss only one piece of information for the income
components (say the price of crop which the respondent may have sold) then we
would have to omit the entire case. But for the analysis we cannot afford to lose many
cases.

If the respondent gives multiple answers to questions, where only one response is
expected, clarify with the respondent his predominant (most important) choice

For all numerical values, the plausibility should be checked during the interview. If
the respondent gives implausible values (either too high or too low) ask him again. If
he insists, try to clarify the unit and if still the same make a note like “respondent con-
firms”. Later in the evening you may bring the case up with your supervisor.

Make sure not to mix up value and price. Remember value = quantity times price.
Price is expressed per unit, e.g. per kg per ton per day per month etc. Therefore, al-
ways clarify the unit.

Monetary values in Thailand are in Baht. In Vietnam it is mostly in units of 1000 VND.
So please be careful with the number of digits if the amount is big, e.g. one million.
For example, in Vietnam if the amount is ten million and the unit is 1000 VND you
must write “10 000”.

If the plausible answer for quantitative information (e.g. crop yield) is 97, 98 or 99
write 97.1, 98.1, and 99.1 instead. Otherwise it can be confused with the respective
codes.

Always be clear on the reference period. This is usually a month or a year. Make
quick plausibility calculations using your calculator. For example, if the unit is month,
you can calculate the amount per year. If the value turns out to be implausibly high,
reconfirm with the respondent.



0.3 Structure of the questionnaire

The questionnaire is structured in 9 main sections as follows:
1. Survey information - identifying information of the household and survey-related infor-
mation, respondent
2. Household members
2.1 Household members and presence
2.2 Education
2.3 Health
2.4Household dynamics - absent household members, former household members and
links to other households
2.5 Networks, trust and solidarity — trust among villagers and main players in the village,
community interdependence
3. Shocks and risks
3.1 Shocks - Record of past shocks, e.g. loss of job
3.2Risks - The perception of uncertain events and hypothetical questions
4. Land and Agriculture
4.1 Land resources - land use and ownership, rental fees, location and quality of parcels,
homestead
4.2 Crops - details for crops grown during the reference period
4.3 Livestock
4.4 Hunting, fishing, collecting, gathering - use of natural resources
5. Off-farm employment
6. Non-farm self-employment
6.2 Investment
7. Finance
7.1 Borrowing, Lending and Savings
7.2 Public transfers and insurance
7.3: Taxation
8. Consumption expenditures
9.1 Assets
9.2 Housing Conditions

Because different activities and resources of the household are related, the information in dif-
ferent sections of the questionnaire is related as well. For example, assets (e.g. a tractor) re-
quired for the economic activities of sections 4.2 - 6 must appear in section 9.1 or consump-
tion expenditures covered in section 8 must be reasonable for the household size given in
section 2.1.

Therefore, the interviewer should conduct cross checks for the relevant sections. For more
details see the different sections of these guidelines.

In the following specific hints for the different sections of the questionnaire are provided. This
follows the numbering of the questionnaire. The interviewer instructions in this manual are
based on a five-digit number, which is the variable identification number. The first digit repre-
sents the section number (e.g. “2” for section 2) the second digit represents the subsection
number (e.g. 2.1 household members). The third to the fifth number represents the column
number.

0.4 Preparing the questionnaire prior to the interview

The Household information sheet helps you to keep track of information of last wave. Please
use it during the interview, to have an idea about the household and its activities.

Generally, all questions with a grey header should be prepared with the information from the
household information sheet. Also check plausibility of answers with the information from last
wave. Please use a pencil when filling out the questionnaire, so that information can be cor-
rected if necessary.

e Section 2.1: HH members



Please fill the information on household member into the questionnaire before the in-
terview.

Please fill in name/nickname (column 2), gender (column 3), age (column 4), place of
birth (column 7), for how long has ... been living with the household (column 8), rea-
son for joining (column 9), previous location (column 10), ethnic group (column 11),
religion (column 12).

The name/nickname (column 2) has to be filled in on BOTH pages of this sub-section!
Section 2.2: Education

Fill in information about name/nickname (column 2). Make sure that the names are
assigned to the same ID codes as in section 2.1. Additionally, fill in ‘is ... currently en-
rolled in school?’ (column 4), ‘what grade is... enrolled in’ (column 5), ‘has ... ever
been to school’ (column 6), ‘what was ... highest educational attainment’

Section 2.3: Health

Prior to the interview fill in information on name/nickname (column 2). Make sure that
the names are assigned to the same ID codes as in section 2.1.

Section 3.1.c: Shocks from prior waves

Fill in information about event ID (column 1), type of event (column 2), and ‘when did
the event occur’ (column 3) of shocks stated last year from which the household did
not yet recover when last year’s interview took place.

Section 4.1: Land

Fill in the land parcel number (column 2) and the land area (column 3).

Section 4.3: Livestock

Fill in the livestock ID (column 0) and the animal species (column 2). Please do not
use IDs twice. Additionally, enter the stock as of end 04/13 (column 9 /9a on the HH
info sheet) as ‘stock as of 1 May 2012’ (column 3/ 3a) in the questionnaire.

Section 7.1: Loans

Fill in the loan ID from last wave and do not use the IDs from last wave for the next
loans. Also fill in the amount of the loan (column 4/5).

Section 7.2: Lending

Fill in the lending ID from last wave and do not use the IDs from last wave for the next
lending. Also fill in the amount of the lending (column 4/5).



Section 1: Survey information

Fill in all know survey information before the interview (province, district, etc.)

Accept that other household members are around for the interview. They may also
provide information but always ask the consent of the respondent before you write it
down.

Please enter the household head from the household information sheet into variable
23 before the interview.

Do not fill in the name of the respondent because he/she might have changed from
last time.

Ask for the household head first, and check if he changed. The household head is
normally the person listed first on the list of households provided by the village or
other authorities.

If that person is not available or cannot be interviewed e.g. because of old age, then
interview the most knowledgeable person available.

Always note down the actual date and local time of interview for start and end. If the
planned date of time differs from the actual one use the latter.



Section 2: Household members

2.1 Household members

General instructions:
o Let the respondent decide who is considered to belong to this household!
e  Go row by row when asking!
e Please fill in information on household member into the questionnaire before the in-

terview.

Field to fill in include name/nickname (column 2), gender (column 3), age (column 4),
place of birth (column 7), for how long has ... been living with the household (column
8), reason for joining (column 9), previous location (column 10), ethnic group (column
11), religion (column 12).

Since in this section the pre-filled variables should be stable over the waves, you
don’t have to check them for old Household members. But please use them for clear
identification of the persons.

Ask, if any new household members joined the household and add them.

The name/nickname (column 2) has to be filled in on BOTH pages of this sub-section
to avoid mixing up household members! Start with the household head.

Specific Instructions:

21000

21001

21002

21022a

21003

21004

21005

If there is more than 1 person responsible for financial and bureaucratic af-
fairs, fill in the ID code of the person who is mainly in charge of every day
consumption expenditure decisions.

If the household head has changed, then put the different code for the newest
house hold head. Don’t put 01 since this code is used to indicate the house-
hold head from the first wave.

Start with questions concerning household member which you have already
filled in prior to the interview. Don’t ask for dead persons, and be polite when
asking for the persons who already left the household. Next, ask for house-

hold member who joined the household between 05/12 and 04/13 and add
the respective information in the rows below existing household members.

If the household head denies knowing a household member who was report-
ed last wave, put a note in 10022 (notes field on the main page), which indi-
cates the member ID and some details: E.g. whether the household head
does not consider that person a member but knows the person etc.

If a person does not belong to a household anymore and the person left the
household between 5/12 and 4/13 then fill in all the columns as the other
household members. But if the household left before 5/12 then go to question
18 and fill in the columns from 18 to 21.

Fill in for NEW household members only.

Fill in for NEW household members only. Fill in the actual age in years and
put O if younger than one year old. Only use full numbers.

Ask for OLD household members only if household head changed with re-
spect to last year (you obtained this information in section 1). Otherwise you
might check the data (and enter it) using the household information sheet.
Always ask for NEW household members. If respondent says he does not



21007

21008
ly fill in

21009

21010
21011
21012

21013

21014

21015

21016

21018

know this for a certain household member, refer to the answer possibilities
from code A. Then ask the respondent for the closest possibility. Make sure
that you always refer to the same household head!

Only for NEW household members. Let the respondent give the name of the
place first and do not read out code C! However, if you do not know the place
the respondent mentions then ask whether it is in the same district, in the
same province but not in the same district, or in another province. For decid-
ing whether the location in question is rural or urban refer to today's classifi-
cation of the place. In Thailand, we classify nai khet thetsaban as urban, and
nok khet thetsaban as rural. In Vietnam we consider locations where more
than 5000 people live as urban and locations where less than 5000 people
live as rural.

Only for NEW household members. In case respondent does not know exact-
the approximate number of years.

Only for NEW household members. If the person was born in the household
skip this question and the following question. Do not read out code D! Only if
respondent does not know how to answer you may read out code D and ask
for the most adequate answer. Please decide into which category the case
fits and try to avoid using code 90 "others pls. specify”. If one of the codes
applies, we do not need more detail.

Only for NEW household members. (See also 21007)
Only for NEW household members. Do not read out code E!
Only for NEW household members. Do not read out code F!

Ask for all household members. Since this is only a “yes’/’no” question, do
not write down the organization.

Ask for all household members. The “main occupation” is the occupation for
which the household member worked the longest during the reference period.
Be aware that possible answers include not only occupations but also an-
swers like “16 unable to work”, “12 unemployed”, “10 students/ pupil”! How-
ever, do not read out code H! If the respondent cannot answer you may give
some reasonable examples (e.g. for young household members “10 stu-

dents/pupil” and “11 child below school age”).

Ask for all household members. The “second occupation” is the occupation
for which the household member worked the second longest during the refer-
ence period. For further instruction, see 21014. Skip if the household member
has no second occupation.

Ask for all household members. Ask for the approximate number of days. If
the answer is 98 or 99 days, fill in 98.1 or 99.1. Otherwise the values might be

]

mixed with “no answer”, “not applicable”.

However, for household members who just moved into the household recently
and who therefore have stayed less than 365 days in the household (without
leaving the household permanently or temporarily after they moved in), fill in
99. In this case also fill in 99 in questions 21018 — 21021.

Ask for all household members. Do not read out code I! If the respondent
cannot answer you may give some reasonable examples (e.g. for old house-
hold members “10 went to be looked after” and “27 health”). Please decide
into which category the case fits and try to avoid using code 90 "others pls.
specify". Please specify detailed, do not use “personal reasons”



21019b

21019

21019a

21020

21021

For locations within Thailand/Vietnam enter the province.
For locations outside Thailand/Vietnam, enter the country.

Ask only for household members that were absent at least some time in the
reference period. Otherwise fill in “99” (not applicable). For further instruc-
tions, see 21007. Code the answer from 21019b using code C. If not sure,
check with the respondent.

Ask only for household members that were absent at least some time in the
reference period. The answer uses code G.

Ask only for household members that were absent at least some time in the
reference period. Otherwise fill in “99” (not applicable). Fill in ONE value that
is the sum of the estimated total amount of money as well as of the estimated
total monetary value of gifts received from the household member in question
during the reference period.

Vietnam: Be careful, reporting units are 1000 VND! If the answer is 98000 or
99000 Dong, respectively, fill in 98.1 or 99.1. Otherwise the values might be

" TS

confused with “don’t know”, “no answer”, “not applicable”.

Ask only for household members that were absent at least some time in the
reference period. Otherwise fill in “99” (not applicable). Fill in ONE value that
is the sum of the estimated total amount of money as well as of the estimated
total monetary value of gifts sent to the household member in question during
the reference period.

Vietnam: see also instructions and examples for 21020!

Examples:

1. Child 1 of household head is studying in the capital city and therefore ab-
sent for 300 days received support from home: Enter the total value of sup-
port received from household in col.21. If child 1 pays the dorm rent from that
money make sure that in the consumption expenditure section 8 no additional
dorm rent is given.

2. Child 2 of household head is working in a factory in a different province and
therefore absent for 345 days. Child 2 regularly sends 1000 Baht/100.000
VND every month. Put 12000 Baht/1200 VND in col. 20.

3. Child 3 of household head still lives most of the time in the household and
went for visiting relatives only for 15 days. Child 3 works in a small processing
plant and contributes 1000 Baht/100 TVND to the household expenditures
every month. Do not put 12000 Baht/1200 TVND in col.20, because this per-
son belongs to the household and its total income (recorded in section 6: Off-
farm employment) is considered as part of the household income.

2.2 Education

General instructions:

Previous to the interview fill in information about name/nickname (column 2). Make
sure that the names are assigned to the same ID codes as in section 2.1. Additional-
ly, fill in ‘is ... currently enrolled in school?’ (column 4), ‘what grade is enrolled in’
(column 5), ‘has ... ever been to school’ (column 6), ‘what was ... highest educational
attainment' with a pencil, so that it can be corrected later.

Copy the new household members from section 2.1 if applicable. Make sure that the
names are assigned to the same ID codes as in section 2.1.

Ask row by row!

10



Specific Instructions:

22002 See interviewer instruction written above the table in this sub section. Please
ask variables 4, 5, 6, 14 and 7 to all persons, to check, whether their educa-
tional status has changed in comparison to the last wave. If not, skip to next
question. If there are changes, or for new members, ask all questions (do not
forget question 3 at the beginning.)

22003 Note that this is only a “yes”/"no” question.

22004 Note that this is only a “yes”/’no” question. If the answer is “no”, skip the fol-
lowing question.

22005 Be aware that there are two country specific codes B, one for Thailand and
one for Vietnam. For household members for which this question has to be
answered leave out questions 6, 7, 8, 9 and 10 and carry out with question
11.

22006 Note that this is only a “yes”/’"no” question. If the answer is “no”, proceed with
the next row.

22014 Fill in the actual number of years the person went to school.

22007 Be aware that there are two country specific codes B, one for Thailand and
one for Vietnam.

Thailand: For bachelors: use Unit 4 in Thailand (if attained, irrespective of
time needed for studying).

22008 Fill in the (approximate) age. Fill in

22009 Do not read out code C! Only if the respondent does not know how to answer
read out the possible answers and ask for the most appropriate one.

22010 Do not read out code D! For further instructions, see 21007!

22011 If respondent does not know exactly ask for approximate age. Consult other
household members if they are around.

22012 Note that this is only a “yes”/"no” question.

22013 Do not read out code C! Only if the respondent does not know how to answer
read out the possible answers and ask for the most appropriate one.

2.3 Health

General instructions:

The following applies only for household members who — according to last year’s sur-
vey — did not leave the household permanently: Prior to the interview fill in information
about name/nickname (column 2). Make sure that the names are assigned to the
same ID codes as in section 2.1.

Copy the new household members from section 2.1 if applicable. Make sure that the
names are assigned to the same ID codes as in section 2.1.

Ask row wise!

Specific Instructions:

23002

See interviewer instruction written above the table in this sub section!

11



23003

23004

23005

23006

23007

23008

23009

23012

23013

23013a

23013c

23014

Do not read out code Al “Can manage” means that the performance of duties
is impaired.

If respondent answers “yes”, fill in “3” (better). If respondent answers “no”, ask
whether the household member feels the same as (“2”) or worse than (“1”)
last year and fill in accordingly.

If respondent answers “yes”, fill in “3” (better). If respondent answers “no”, ask
whether the household member feels the same as (“2”) or worse than (“1”)
last year and fill in accordingly.

Fill in the (approximate) weight in kilograms. If the answer is 98 or 99 kilo-
grams, fill in 98.1 or 99.1. Otherwise the values might be confused “no an-

swer”, “not applicable”.

Fill in the (approximate) height in centimeters. If the answer is 98 or 99 centi-
meters, fill in 98.1 or 99.1. Otherwise the values might be confused with “no

U]

answer”, “not applicable”.
Note that this is only a “yes”/"no” question.

This question is not related to question 8: it need not be the same disease or
injury! Do not read out code D! Assign the most appropriate value from code
D to the illness mentioned by the respondent. If unsure put 90 and specify
the disease as mentioned by the respondent. If no a severe illness during the
reference period, fill in zero (0) and go to next row

Fill in the (approximate) number of weeks. If the household member’s occu-
pation was not affected by the iliness, fill in “0”. If person does not have any
occupation, fill in 99. If it is a person that had to stop working completely after
the event, then still just enter the number of weeks lost in the reference peri-
od.

Do not read out code E! Only if the respondent cannot answer read out the
possible answers and fill in the most adequate one. If the answer is “did noth-
ing” (0), proceed with question 14, otherwise ask questions 13a and 13c, but
skip question 14.

Do not read out code G! If you do not know the location the respondent men-
tions, ask whether it is in the same subdistrict/ commune, in another subdis-
trict/commune, in a district town (if the location is in a district town in another
subdistrict/commune, fill in “4”), in the capital of the same province, in the
capital of another province or abroad and fill in accordingly.

Clarify that this is only an “inpatient’/“outpatient” question. If the household
member was in inpatient and outpatient care, fill in “inpatient” care (1).

Do not read out code F! Only if the respondent cannot answer read out the
possible answers and fill in the most adequate one.

2.4 HH dynamics

General instructions:

Emphasize that you do not ask for any person already noted in the previous sections!

Specific Instructions:

12



24000

24002

24005

24006

24011

24012

24013

Note that this is only a “yes”/’no” question. If “Yes”, continues to the next
questions, otherwise, move to the next section.

Fill in names/nicknames of non-household members who provided money,
gifts or in kinds (remittances) to the household or to whom the household pro-
vided money, gifts or in-kinds during the reference period and ask ROW
WISE for the respective person’s information (see instruction above the table
in section 2.4).

If the household only knows the total value of gifts received for a celebration
(e.g. wedding) in the household without being able to separate this value by
single donors, fill in the total value in 24012 and give the reason (e.g. wed-
ding) for receiving the gifts in 24002. Fill out the questions that cannot be an-
swered in this case with 99.

Do not read out code A! Only iff respondent does not know how to answer for
a certain household member, tell him the answer possibilities from code A
and ask which the most adequate one is.

Read out answer categories. If you do not know the place of birth the re-
spondent mentions, see instruction for 21007!

Do not read out code B! If you do not know the location the respondent men-
tions, see instruction for 21007!

Fill in ONE value that is the sum of the estimated total amount of money as
well as of the estimated total monetary value of gifts and in kinds received
from the person in question during the reference period.

Vietnam: Be careful, reporting units are 1000 VND! If the answer is 98000 or
99000 Dong, respectively, fill in 98.1 or 99.1. Otherwise the values might be

confused with “no answer”, “not applicable”.

Also ask for and consider money that the household received for celebrations
(e.g. wedding, funeral).

Fill in ONE value that is the sum of the estimated total amount of money as
well as of the estimated total monetary value of gifts and in kinds sent to the
person in question during the reference period.

Support payments in this section include gifts given at social occasions i.e.
when household members join a celebration (wedding, funeral) and bring a
gift. It also includes gifts received. It is very important to cover this here, be-
cause it is not to be included in the expenditure section (section 8) under
code 46. Avoid double-counting!

Vietham: see instruction for 24012!

Also ask for and consider money that the household spent for celebrations
(e.g. wedding, funeral) of OTHER households. Expenditures for celebrations
in OWN household must be entered in Section 8.

2.5 Networks, Trust, and Solidarity

General instructions:

The questions on social networks, trust, fairness, and solidarity concern a relatively
sensitive part of the respondent’s life. Overall, make clear to the respondents that the
questions to not aim to identify disagreements and disputes within the village popula-
tion, but that the aim is to get a feeling of the social atmosphere within the village.
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e Start by reading out the introductory sentence: “In every community, some people get
along with others and trust each other, while other people do not. | would like to talk
to you about trust and solidarity in your community.”

Specific Instructions:

25001 This question can only be answered in one of the two categories (Most peo-
ple can be trusted. / You can’t be too careful when dealing with people.). If the
respondent is unsure, ask to choose the category which fits his personal im-
pression relatively more.

25002 Read out code N to the respondents, and let them choose which answer is
most suit-able for each category.
If in doubt, make clear to the respondent that the answer “Your friends and
relatives” includes only very close family and friends. Similarly, the group
“Traders” refers to people that they sell to and buy from, but they do not know

personally.
25003 This is a simple “yes/no” question. If the answer is “no”, proceed to Q5.
25004 Read out answers from code P (your family or relatives / other people in the

village / people outside the village) to the respondents and let them choose
one category. If family and friends received assistance, choose answer 1, re-
gardless of whether they live inside or outside the village.

25005 Read out answers from code Q! Insist that the respondents name only three
sources of information (the most important ones) and assign them to the cat-
egories in code Q. If no category fits, use answer code 90 and specify the
source of information next to the cell on the questionnaire.

25006 Read out answers from code R, and proceed similar to 25002.
25007 Again, this is a “yes/no” question. Do not inquire about the amount time /

money and make clear that the question is not about a specific project that is
currently planned in the village.

25008 “Yes/no” question. Don’t give further instructions, but let respondents indicate
their gut feeling. What the respondent understands as “fellow villager” is up to
him/her!

25009 Explain that this question is about the general time horizon of financial plan-

ning, and not about actual savings or borrowing decisions. Read out answers
from code S together with the question and let the respondent choose the
category which they think most closely resembles their planning horizon. If
the respondent indicates to not make any financial plans at all, use answer
code 1.
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Section 3: Risks and shocks

3.1 Shocks
3.1.a

General instructions:

Introduce the section by explaining to the respondent that these are now questions
regarding events that cause problems. Interviewer read out the introductory question:
“When considering the time period between 05/12 and 04/13, has there been any
event causing a big problem (shock) affecting the household?” However, do not get
into long discussions, in case the respondent starts telling stories but move to the
questions.

Question to be read out: “What were the three major shocks that affected your
household between 05/12 and 04/13?” Record the answers in rows 1 to 3 in table
3.1.a; always ask row wise!

Specific Instructions:

31002

31002a

31003

31004

31005a

31005b

31006a

31007

Do not read out code Al We want to see whether the households are con-
scious of the shocks that occurred to them or not. If the household does not
state any shock in section 3.1.a do not insist. Just continue with section 3.1.b.
If the respondent did mention shocks under 3.1.a assign a type of event from
code A to the shock mentioned by the household. If not possible, fill in “90”
and specify the shock verbally.

Be aware of additional instruction “*/If the shock affects more than one per-
son, please don't fill in Q2a.” which you find below the table.

Fill in numbers for each month (January =1, December = 12). If the event
lasted more than a month fill in the month when it started.

Read out the answers from code B on the previous page and let the respond-
ent choose the adequate one.

Ask for the total sum of income losses due to the event in the reference peri-
od (e.g. forgone income of household member that stopped working due to ill-
ness; foregone income due to destroyed harvest).

Vietham: Be careful, reporting units are 1000 VND! If the answer is, 98000 or
99000 Dong, respectively, fill in 98.1 or 99.1. Otherwise the values might be

LTI ]

confused with “don’t know”, “no answer”, “not applicable”.

Ask for the total sum of extra expenditure due to the event in the reference
period (e.g. expenditures for coping activities such as medical treatment,
planting and additional crop, etc.).

Vietnam: see instructions for 31005a.

Ask for the estimated total monetary value of asset losses due to the event in
the reference period (e.g. value of agricultural machines if it were destroyed
by a flood).

Vietnam: see instructions for 31005a.

Do not read out code C! If the respondent does not know how to answer the

question you may ask if rather “only your household” was affected or also
other households. In the latter case, you may read out number 2 to 6 from
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31008 -

code C to the respondent and ask which one of these is the most adequate
answer.

31010 Do not read out code D! If respondent cannot answer the question you may
state the five coping categories from code D (economics, demographics, sale,
borrowing and savings, grants) and give one example from each of them. If
the household did nothing in order to cope with the event enter “1”. If question
8 (31008) was answered with “1”, do not ask questions 9 and 10, but fill in “1”
and proceed with question 11. If question 9 was answered with “1”, do not ask
question10, but fill in “1” and proceed with question 11.

31011 Tell the respondent that this is simply a “yes”/’no” (code E) question. If any-
thing is unclear to the respondent, explain that we want to know is whether
the household reduced consumption due to the event despite (in addition to)
the stated coping activities.

31012 Record the approximate number of months it took to recover from the shock.
“Recover” means that the household is economically at the same level as it
was prior to the shock. If the household is not yet fully recovered fill in “90.
See instructions in the questionnaire.

3.1.b

General instructions:

Read out Question b: “Was your household affected by any of the following events
between 05/12 and 04/13?” To save time, please do not get into long discussions, but
move on to the questions.

Read out all the types of events! Ask row wise! If an event has occurred fill in an ID
and the respondent’s information in the respective row. If the event did not happen to
the household, fill in anything and skip to next row.

If one type of event (e.g. illness of a household member) happened more than once
during the reference period, fill in the case firstly mentioned by the household in the
appropriate row. Fill in the information about all the other cases of the same event in
new rows below table 3.1.b.

If one type of event was already noted in 3.1.a, ask whether this event happened
more than once. Only fill in information about shocks that were not already mentioned
in section 3.1.a!

Concerning the last row of table 3.1.b (“90 others, please specify”): After you read out
all the types of events ask the respondent whether there have been any other shocks,
which were not captured by the type of events just mentioned. If the respondent men-
tions any new event create a new row below table 3.1.b and fill in the information. Do
NOT go back to section 3.1.a and fill in the information there.

Specific Instructions:

31001

31002a

Ask whether the shock in column 2 occurred between 05/12 and 04/13. If it
occurred, fill in an event ID. The event ID starts with 4 even if the household
stated less than 3 shocks in section 3.1.a. If the shock did not occur during
the reference period, do not fill in anything in the respective row but proceed
with the following row.

Be aware of additional instruction “*/If the shock affects more than one per-
son, please don't fill in Q2a.” which you find below the table.
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31003

31004

31005a

31005b

31006a

31007

31008 -31010

31011

31012

Use numbers for months (1=Jan, 2=Feb, 3=Mar, 4=Apr, 5=May, 6=June,
7=July, 8=Aug, 9=Sep, 10=0ct, 11=Nov, 12=Dec). If the event lasted more
than a month fill in the month when it started.

Read out the answers from code B on the previous page and let the respond-
ent choose the adequate one.

Ask for the total sum of income losses caused by the event in the reference
period (e.g. forgone income of household member that stopped working due
to iliness; foregone income due to destroyed harvest).

Vietnam: see instructions for 31005a.

Ask for the total sum of extra expenditure due to the event in the reference
period (e.g. expenditures for coping activities such as medical treatment, di-
versification of agricultural portfolio, etc.).

Vietnam: see instructions for 31005a.

Ask for the estimated total monetary value of asset losses due to the event in
the reference period (e.g. value of agricultural machines if it were destroyed
by a flood).

Vietnam: see instructions for 31005a.

Do not read out code C! If the respondent does not know how to answer the
question you may ask if rather “only your household” was affected or also
other households. In the latter case, you may read out number 2 to 6 from
code C to the respondent and ask which one of these is the most adequate
answer.

Do not read out code D! If they do not know how to answer the question you
may state the five coping categories from code D (economics, demographics,
sale, borrowing and savings, grants) and give one example from each of
them. If the household did nothing in order to cope with the event enter “1”. If
already question 8 is answered with “1”, do not ask questions 9 and 10, but fill
in “1” and proceed with question 11. If already question 9 is answered with
“1”, do not ask question10, but fill in “1” and proceed with question 11.

Tell the respondent that this is simply a “yes”/’no” (code E) question. If not
clear to the respondent, explain that we want to know whether the household
reduced consumption due to the event although despite of (in addition to) the
stated coping activities.

Record the approximate number of months it took to recover from the shock.
“Recover” means that the household is economically at the same level as it
was prior to the shock. If the household is not yet fully recovered fill in “90”.

3.1.e

Specific Instructions:

31013-14

31013b

31014b

31015

“Better off” refers to quality of life. Use code G.
Refers to respondent only.
Refers to respondent only.

Refers to monthly income fluctuations during the last 12 months. Use Code H.
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31016 “Well-being” refers to all aspects of daily life (i.e. eating, housing, medical treat-
ment if needed, transport and communication, etc.)

31019-20 “Better off” refers to quality of life. Use code G.

31026 “Burden” refers to the level of difficulty that the household faces or feels due to
the cost of loan repayment. If respondent does not understand enumerator can
give examples related to the respondent’s situation. For example, if a household
has to reduce consumption or can’t afford to send children to school because it
has to use most of its income to repay its loans then loan repayment is a major
burden on the household.

31024 If respondent does not understand enumerator can give examples related to the
respondent’s situation. For example, a person who is willing to take risks may
be prepared to take up a dangerous but better paying job or may plant early de-
spite of the risk of drought, etc.

31025 Explain to the respondent that the business investment does not involve much of

his own labour nor has it many other costs except the investment. An exam-

ple could be to give money to someone who wants to start a shop or a taxi busi-
ness.

3.2 Risks

General instructions:

¢ Introduce this section by explaining that these questions deal with the expectation
that the respondent has regarding events that could cause a problem for his house-
hold. The list of events is the same as those mentioned under section 3.1

¢ When respondent hesitates, explain to him that these are scientific questions and the
answer will not bring bad luck to his household!

e Ask column 2 first, and then ask row wise, covering each possible risk mentioned on
the left.

e Ignore (do not get confused by) the numbering of columns — the numbers are needed
for internal reference.

Specific Instructions:

32002 Please ask politely about the respondent’s realistic assessment of the chance
of the event to take place. If the answer is 98, ask the following questions
nevertheless.

32004 If respondent hesitates ask for approximate number of events.

32003a-b Ask about approximate amount. If estimation is difficult for respondent use

helping question “How many monthly incomes would be lost?” and enter the
total amount.

32013 Record YES for any action taken BEFORE the event takes place.

32014 Specify the most important action that was taken BEFORE the event takes
place.

32015 Ask for approximate costs for the action specified in question 32014.

For any mitigation strategy which generates additional gross benefits, esti-
mate the net costs of applying that mitigation strategy. E.g. purchase of addi-
tional crop land in order to diversify crop portfolio: net costs = gross costs
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32016

(purchase price of land, costs for cultivating that land) — gross benefits (in-
come generated on that land).

With this column double counting of specific expenditure in 32015 should be
prevented. Therefore, record the code of the event type (NOT the risk ID)
whenever the same expenditures appear again.

3.2 Risk — Climate Risks

32025 - 27

32028/ 31

Three possibilities to answer, put the most important change in variable a, the
second most important one in b and so on. If the respondent did not recognize
any change, enter Code A/ B/ C = 20 (no change) in a, b and c. If the re-
spondent knows only one answer (or two, respectively), enter this in field a
(and b), and enter 1 in field b and c (or only c, respectively).

You can help the respondent, by giving examples from Code A.
If the respondent did not recognize any change in either of the questions
32025 - 27, skip to question 34.

Three possibilities to answer, put the most important effect in variable a, the
second most important one in b and so on. If the respondent did not recognize
any effect, enter Code A/ B/ C = 20 (not affected) in a, b and c. If the re-
spondent knows only one answer (or two, respectively), enter this in field a
(and b), and enter 1 in field b and c (or only c, respectively).

32028: if the household does not have any agricultural activities, fill in 99.
(cross check with sections 4.2/4.3)

3.2 Risks — Future events

32005

32007

32011

32010
get the

Read out possible answers! Record all codes that apply. If no code applies,
enter 1.

Ask for approximation. If the household says that he would never be able to
get the amount, fill in 999.

Read out possible answers! Record all codes that apply. If no code applies,
enter 1.

Ask for approximation. If the household says that he would never be able to
amount, fill in 999.
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Section 4 Land, agriculture, natural resources

General instructions:

e Pay attention to different units of measurement, convert to the unit given in the head-
er of the tables, and — if necessary, take notes, e.g. Area: rai, sqm, ha or any local
unit, Yield: kg, t, number (eggs e.g.) or local units, Production: kg, t, numbers (eggs,
cattle, beef, pigs, ducks etc.?)

4.1 Land

General instructions:

e Before the interview: Fill in the land parcel number (column 2) and the land
area (column 3)

e Pay attention to numbering of parcels/plots in 41002, and write down the in-
formation according to 41002

¢ Introduce the section by reading out the text below 4.1. Explain that this sec-
tion deals with land use of all purposes including agriculture

e If the household neither has land (own or rented) for agriculture and/or gar-
dening then only ask information on homestead, i.e. only fill in information in
row 1 of the table.

e Row 1 in table 4.1 is designed for the homestead. Here enumerator must
check whether the information given for row 1 might correspond with the
‘home stead”, which does not include the house (e.g. when giving
rent/values). Better ask for the area of the homestead excluding the house

when asking questions 41009a, 41010, 41011a, 41011b, and 41011e.

Specific Instructions:

41002 Land IDs should be constant throughout all waves. Please therefore do not
use an ID twice.
Special case:
e If a land parcel that existed in the last wave was split into two, report
the two split parcels under new parcel IDs. In the old parcel's row use
Code 7 in 41003a and specify details on the change in the code (e.g.
"The parcel was split into new parcels 6 and 7").

41003 For land IDs that already existed last wave, check land size, and correct if
necessary. For new land plots, record the land size in the correct unit. For
the area use rai (= 0.16 ha) in Thailand and units of 1000 sgm (=0.1 ha) in
Vietham.

41003a If the information was wrong and the plot never existed, fill in 5 and leave the
row empty.
Special cases:

e If the household gave the plot to relatives or other persons as a pre-
sent for free, fill in 4 and a price (41009a) = 0. Skip the rest of the
row.

e If the household lets other persons use the plot for free, please fill in
1, fill also in all other questions, and enter a rental value (41010) = 0.
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41005

A mortgage loan agreement is an official binding contract between a borrower
and a lender that gives the terms and repayment information about the new
debt. A borrower is required to repay the lender the debt on a set schedule.

Redeem (mortgage): To cure a Default by paying all overdue loan payments
and penalties after receiving a notice of default but before the Lender can
foreclose the mortgage.
Example: William received a notice from his mortgage company that he was
in default and they would begin foreclosure proceedings if he did not redeem
the mortgage within the next 15 days. William promptly paid the two monthly
payments that he had missed plus a late-payment penalty.

41010 Cash payments: put 0, if rented for free to relatives or other persons
OUTSIDE the household.
41011 In kind payments: put 0, if there was no in-kind payment.
41009a We always need an estimate of the value, whether the land belongs to the
household or not.
You may help the respondent to estimate the value by asking the following
questions:
a) If the land belongs to the household: "If you were to sell this plot of land
today how much do you think can you get?"
b) If the land does not belong to the household: "If you had to buy this plot
today how much do you think would you have to pay?"
4.2 Agriculture
General instructions:

When asking for the crop items (42002) respondents may not answer in ac-
cordance with the parcels (e.g. rice is grown on more than one parcel, one
parcel is used for different crops during the year or within one season (differ-
ent varieties of vegetables on one parcel). If one crop is grown on more than
one parcel: fill in the main parcel in row 4 if respondent cannot answer for all
plots.

Read out precisely the explanations to questions (e.g. above 420014 to
42022) and use correct code or mention quantity. As mentioned in previous
section add .1 if number is on code list (e.g. 90, 98, 99)

Specific Instructions:

42002

42003a

Jasmine rice, also called Hom Mali includes rice varieties such as Khao Khao
Dok Mali 105" and “Gor Khor 15”. Hom Mali is photosensitive and earns a
higher price than other rice varieties.

There are also other fragrant rice varieties, e.g. Hom Putam and Hom Supan,
which are non-photosensitive.

In our questionnaire, we differentiate the following rice varieties:

Jasmine rice

Other fragrant rice

Glutinous rice

Non-glutinous rice

code C gives further specification for crop, e.g. the exact type of vegetables
which we call variety
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42004

42005

42010 - 42016b

42017 - 42029a

When the same crop is grown on more than one parcel, give the parcel num-
ber of the largest plot. In this case the complete crop details are assumed to
be identical for all plots.

Please check the plausibility regarding the land plot size (41003).

Please check the balance: 42010 should equal the sum of 42011, 11b, 12,
13, 13a, 14, 14b.

Total production: The production that was harvested during the reference pe-
riod in this crop.

Home consumption: That part of the above total production that has been
used for home consumption _or_is earmarked for home-consumption until
the next harvest is expected (actual + expected quantity). This applies to all
the other utilization columns.

If the product undergoes simple processing such as cutting, chipping and dry-
ing, there is always weight loss involved. As a result, taking the final product
into the balance will not work out. For those cases where the transformation
rate is known, we will use the fresh weight equivalent to calculate the bal-
ance. In the questionnaire, you should always write down the corresponding -
quality, quantity and price of a certain product type.

For permanent crops ask only for those costs which have occurred in the ref-
erence period (5/12 — 4/13).

42037a - 42045d “Person days” means the number of people working per day multiplied by

number of days worked. Therefore, to calculate the person days for hired la-
bour, the interviewer should ask the number of labourers hired and multiply it
by the number of days that the labourers worked. Similarly, to calculate the
person days for family labour, the interviewer should ask the number of family
members who worked on the farm and multiply it by the number of days that
the family member worked.
For example:
a. Person days for hired labour:
o If a household hired 5 labourers to work for 98 days, the person
days is equal to 490 (5*98=490).
o If a household hired 10 labourers of which 7 labourers worked
for half a month and the other 3 labourers worked for a full
month on june, the person days is equal to 195 ((7*15) +
(3*30) =195).
e If a household hired 3 labourers to work for 3 days in July and
5 days in August, the person days is equal to 24 ((3*3) +
(3*5) =24).
b. Person days for family labour:
o If the household head of a household only works from the
whole family in the farm the whole year and every day, the
person days is equal to 365 (1*365).
e The household head, the wife, and 2 of the children in the fami-
ly work in the farm. The household head works the whole
year in the farm and every day, while the wife works half a
day for a half a year. Both of the children work half a day the
whole month on June, July and August. Then the person
days is equal to 725 ((1*365) + (1*180 (6*30)) + (2* (3*30))
=725).

42037a - 42045d “Average hours worked per day” for hired labour refers to the number of

hours a labourer works usually when hired for the specific activities depend-
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ing on the question at hand. If the respondent can’t give an exact figure and
says that he doesn’t know, ask him to give an estimated figure. Rough esti-
mates are better than code 98. If respondent still can’t answer the average
hours worked per day and answer in detail how many hours each hired la-
bourers worked, the enumerator should calculate approximately the average
hours a labourer works in a day. Only use full numbers.
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4.3 Livestock

4.3.1 Stocks

General instructions:

Fill in the livestock ID (column Q) and the animal species (column 2). Please
do not use IDs twice. Additionally enter the stock as of end 04/11 for Ubon
Ratchathani and Thua Thien Hue and as of end 04/10 for Buriram, Nakhon
Phanom, Ha Tinh and Dak Lak (column 9 /9a on the HH info sheet)) as ‘stock
as of 1 May 2012’ (column 3/ 3a in the questionnaire).

Units for all types of livestock are given the code A in variable 43102.

Please use kg with fish, and number in most other cases. But always check in
the code.

If the respondent cannot give an exact figure or if he says that he doesn’t
know, ask him to give an estimated figure. Rough estimates are better than
code 98.

Check the livestock balance sheet for consistency. The stock at the end of
the year should be consistent with the stock at the beginning of the year and
the changes over the year. If the balance sheet is inconsistent, clarify this
with the respondent.

Specific Instructions:

43102

43105 - 43105a

Do not list pets, but all other livestock for production purpose.

If animals were received in kind as a gift, please estimate the value and re-
port it in 43105a, and additionally as remittances in kind in section 2.1 or
2.4,

43103a, 43105a, 43106a, 43107a, 43109a

Check whether the livestock values given by the respondent are realistic. In
case of unrealistically high or low figures, please ask the farmer for clarifica-
tion. If there is a good reason for unusually high or low figures, please make
a note at the bottom or back of the questionnaire sheet.

Check also whether the balance of livestock is correct.

430103 + Additions (43104, 43105) — disposals (43106, 43107, 43108) =
43109

This rule does not work for fish, which is measured in kg.

43112, 43113, 43114, 43115, 43116

43107

43106, 43106a

Check whether the cash expenditures given by the respondent are realistic.
In case of unrealistically high or low figures, please ask the farmer for clarifi-
cation. If there is a good reason for unusually high or low figures, please
make a note at the bottom or back of the questionnaire sheet.

Check whether the amount of home consumption is realistic considering the
number of household members. If the amount of livestock or livestock
products consumed by household appears to be unreasonable high, ask
again for clarification. If there is a good reason for unusually high or low fig-
ures, please make a note in the questionnaire sheet.

If livestock has been given as gift to another household, put it into 43106

and 43106a as losses. However, also put it into section 2.1 or 2.4 (depend-
ing on the recipient) as a remittance.
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43105, 43105a, 43106, 43106a

Special cases from the third wave:

If livestock has been given to or taken away from the household as part of
Thai government program on cows (i.e. Thai government gives a baby cow
to a HH. When the cow is grown up and has given birth to another baby
cow, the "old" cow has to be given back to the government.), put it into
43105, 43105a, 43106 and 43106a as received in kind or losses respective-
ly. However, also put it into section 7.1a (borrowing) as a loan in kind (Spec-
ify the program using code 90 in variable 71109!).

4.3.2 Livestock products
General instructions:

¢ Units for all types of livestock products are given in the code A in variable
43202.

o |f the respondent cannot give an exact figure or if he says that he doesn’t
know, ask him to give an estimated figure. Avoid code 98 as much as possi-
ble.

Specific Instructions:

43204- 43207
Please check for a correct balance:
43204 = 43205 + 43206

43205a and 43207
Check whether the livestock product values given by the respondent are realis-
tic. In case of unrealistically high or low figures, please ask the farmer for clarifi-
cation. If there is a good reason for unusually high or low figures, please make a
note at the bottom or back of the questionnaire sheet.

43208, 43209, 43210
Check whether the cash costs given by the respondent are realistic. In case of
unrealistically high or low figures, please ask the farmer for clarification. If there
is a good reason for unusually high or low figures, please make a note at the
bottom or back of the questionnaire sheet.

43205 Check whether the amount of home consumption is realistic considering the
number of household members. If the amount of livestock or livestock products
consumed by household appears to be unreasonable high, ask again for clarifi-
cation. If there is a good reason for unusually high or low figures, please make a
note in the questionnaire sheet.

43209/10 If there are further cash costs, please specify in 43209 and fill in the value in
43210.

4.4 Fishing, hunting, collecting gathering

General instructions:
In this section the household should report his activities in fishing, hunting, collecting and log-
ging. Please make sure that very intensive fishing activities (for example the HH members

harvest about one ton of fish daily per member) should be reported in aquaculture (section
4.3).

Specific Instructions:
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44018

Answer the distance in km between household's location and the place where
the household conducts fishing, hunting, collecting or logging.

44005, 44011, 44012 and 44012a

44010

Compare the sum of all costs (with the value of total output (44017a)). If the
sum of costs is bigger than 44017a clarify with the respondent by asking for ex-
planation and write a comment if necessary.

Please make sure, that the amount of days is plausible with the length of the
season (44008/9)

44011, 44012, 44012a For all these costs (fuel, hired labour, other) calculate the cost per

44012

44013

44015a

44016

44017a

time of activity conducted (44010) and ask the respondent if this figure is rea-
sonable.

If the respondent does not know how much is paid for hired labour in total, help
him/her by asking, how many labourers worked for the household, how many
days they worked and the rate per man day which they paid them and finally
calculate the total amount paid

For Thailand: To fish marine fish seems not very plausible. Please make sure
that they really fish it and if yes, write a note why it is reasonable.

This variable should give the unit used for 44014, 44018 and 44016.Whenever
possible try to use kg or if the respondent uses another unit, try to convert it to
kg. In case firewood also m? is ok.

Try to re-check whether the quantity given fits by calculating quantity consumed
per day/person

Try to re-check whether value given fits, i.e. for food calculate a per-kg price and
compare it to other food. For example, in Thailand firewood it should not be
much more than 0.5 B/kg When the respondent estimates the value estimate
avoid the highest seasonal price but use an average price for the relevant rea-
son.
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Section 5: Off-farm employment

General instructions:

In this section the enumerator need to prepare the respondent for a different set
of questions by reading out the introduction in section 5 of the questionnaire. It
is important to explain that off-farm employment includes all jobs that the re-
spondent or any member of his household as listed in section 2.1 has outside
the household’s farm. Of course please do not ask again for death members
(and mark them in the household list!). For members who left the household we
would like this information as far as possible. This off-farm employment includes
work on other farms in the same village or outside the village but also non-farm
employment such as employment in factories or construction companies. Since
these jobs are often carried out by household members who may not come
home often ask the respondent to give his best estimate for example when ask-
ing for wages etc. He may also ask other household members who may know
better but the answer should always be endorsed by the respondent. Some-
times the employee may also receive other benefits (bonus payments) in addi-
tion to wage. These need to be included.

Specific Instructions:

50008a

50010

Commuting covers all cases where people go to the place of work and return
home (the rural village where his/her household is based) every day. If someone
stays over night at the place where he/she is working (e.g. living in a flat in
Bangkok because job is located in Bangkok), then fill in 2 (=no).

Interviewer please enter the number of times returning home to the village dur-
ing a year or the period of job duration. If the employee did not return home at
all and is not going to return within one year, enter zero.

50018 — 50019

If someone got the job because “he/she had good relationship with someone”,
fill in 4.

50023 - 50027¢

50027b

50027¢

50028

50028a

Here it is the interviewer's responsibility to avoid double counting. Include regu-
lar bonus payments in col. 23, and specify the unit correctly. If there are one-
time bonus payments, they should appear with their value in the reference peri-
od in col. 27c.

Mind the reference period: it is per day for food

but it is per year for irregular bonus payments!

Please be reminded that the maximum possible for working hours is not 24 a
day, but rather around 12 hours, since the employee needs to sleep and eat. If

for certain reasons the daily working hours a higher please put a note.

The maximum of working days per month is 30 (or 31). Please make sure to
deduct free weekend and an appropriate portion of yearly holidays.

27



Section 6: Non-farm self-employment

General instructions:
This section refers to all non-farm enterprises which the household owns or is
engaged in. Please read out the introductory sentence on top of the table.

Specific Instructions:

62005a Code B “28” means agricultural services. This includes renting out a tractor with
which he/she works on somebody’s field.

60007 We want the value of the initial amount of investment in the first year of the
business, i.e. in terms of the currency value at that time.

60007a We want to know the source of the money used to cover the initial investment.

60013 — 60014
We need the distance between household's location and the place of business.
If that person runs a mobile car shop or a taxi, fill in 99.

60033 Include all cost items including electricity, fuel. Be sure that these costs are not
considered again in the expenditure section 8, because the latter one is for con-
sumption expenditures only.

60038 First calculate the cash profit by calculating 60029 - 60021 — 60033. Thereafter
inform the respondent about the result and ask for confirmation. If respondent
cannot confirm clarify and recalculate. If any of the detailed information is miss-
ing (Don't know, 98) ask for a profit estimate only.

60040b Please be reminded that the maximum possible hours for working is not 24 a
day, but rather around 12 hours, since the employee needs to sleep and eat. If
for certain reasons the daily working hours are higher please put a note.

60040a The maximum of working days per month is 30 (or 31). Please make sure to
deduct free weekend and an appropriate portion of yearly holidays.

60039 The maximum of working months per year is 12. Please make sure to deduct
free months and an appropriate portion of yearly holidays.

6.2 Investment

General Instructions:

This section refers to the investment strategy for farm or business of the household. We are
interested which durable goods the household has bought or sold in the last year (05/12 -
04/13) and what he plans to invest for the future.

Specific instructions:

62001  This is the filter question for investment. Investment is defined as the purchase of a
durable good for a price above 5000 Baht or 1.5 Million VND. Durable means that it
will be used longer than only one season or year. Seeds are therefore only an in-
vestment if they are for permanent crops, which can also be used in the next sea-
sons. One investment is always related to one investment decision. If the HH de-
cided to buy 100 chickens, this is one investment decision; purchase price can be
added up and entered in one row. If they decided to buy another 30 chickens 2
month later, this would be another investment decision.

28



62003

62004

62004a

62005a

62007

62009

620011

620013

62015

Fill in each investment decision in one row. Often, it is difficult for the respondent to
remember all investments. Therefore, please read out the categories of code A and
give examples. Please also cross-check with relevant sections. For land and build-
ings check with section 4.1, for permanent crops with section 4.2 and for livestock
with section 4.3. The relevant section for all machinery and vehicles is section 9.1.
Please cross check later in the interview.

Write down the item in words, and enter the correct Code from Code A in Q3a.

Fill in where the item is located. If the household bought a tractor, that is used on
the own farm in the village, fill in 1. If they bought land which is located some 2 kilo-
meters away from the house, but in the same village/commune, fill in 1. If they i.e.
bought land for a chicken farm in another province, fill in 6.

Fill in how many items the household bought. If they bought 1 tractor, fill in 1. If they
bought 300 chickens, fill in 300. For land, please fill in the number of land plots.

Code B gives you an idea, which technical characteristic might be important for a
certain item. If the item is given in Code B, please use the referred unit. If there is no
unit given for an item, but there is an important characteristic, use Code 90. If there
is no important characteristic leave blank.

The purchase price relates to the sum of the investment decision. If the investment
decision includes 300 chickens, please enter the total price.

Include also credit and loans. If bought on installment insert the full sum including in-
terest rate. Fill in the credit and loans information in borrowing section.

How long does the respondent plan to use the item, until it breaks down, or he will
sell it? Please enter the planned duration of use in years. Calculate from the point in
time, when he bought it.

Does the respondent think, that his investment was successful or not?

This is the filter question for divestment. Divestment means, that the HH sold a du-
rable good for a price above 5000 THB or 1.5 Million VND, which has former been
used for more than one season.

Fill in each divestment decision in one row.

62020-27 Please cross check these questions with sections 4.2 (crops)/ 4.3 (livestock) and

62028

6. Only use code 4, if the household does not have a crops or livestock (Q20) or
does not have a self-employment (Q 21).

Children/ grandchildren relates to the generation in the HH that is not yet grown up,
and has not yet taken a decision where to live in future.
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Section 7: Borrowing and Lending

71
7.1.1 C: Credit rationing

General instructions:

e Please record all the loan items that a household applied for between 5/12-
4/13 without getting it or without getting the full amount a household applied
for

Specific Instructions:
71302 Pls. record the month in numbers, e.g. 4 (for April).
71307 If the loan is multi-purpose, recode the most important reason.

71311 Record the number of times (including this time) that the application was partially
or completely rejected. Thus, this column must be recorded and does not allow for
0 in this column.

7.1.2 D: Default history

General instructions:
Please cross check with information on late repayments in section 7.1 Borrowing.
Specific Instructions:

71421 If the loan has no collateral or if the collateral is in the form of guarantor or work
contract, then leave column 21 unfilled (do not put 0 in these cases).

7.1.3 A: Borrowing

General instructions:

e Fillin the loan ID from last wave and do not use the IDs from last wave for the
next loan. Also fill in the amount of the loan (column 4/5). Only fill in loans,
which have not been fully repaid before 05/12, therefore those, who had a
remaining debt larger than 0 at the end of the last wave (19b on the house-
hold information sheet).

e Please introduce the section by explaining that we would like to understand
the characteristics of the rural credit market in Thailand/Vietnam and how the
household participates. Please emphasize that we are interested in all sorts
of borrowing/lending (formal and informal, cash and non-cash).

e Ask row wise, start with Q 1a.

Specific Instructions:

Q 1a: 71033 - 71036
The purpose of this question is to obtain information on the location of the nearest
branch/group of the four financial institutions and the travel time (in minutes) from
the household to each branch/group. The interviewer should address this question
to all households not only households that have borrowed. The interviewer should
also ask for the location and travel time of the nearest branch/group of each and
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every financial institutions listed below. If the nearest branch/group of a given fi-
nancial institution is within the same village that a household resides, then the in-
terviewer should record code H=0. If the nearest branch is outside the village that
a household resides but still in the same sub-district (commune), then the inter-
viewer should record code H=1.

71003 — 71005

Check if the loans you filled in are still owed or have been fully repaid during the
reference period (05/12 -4/13). If yes, ask for further information row wise. If not,
delete the row, but do not use this ID again.

71106a - 71106d

Record the most important usage of the loan in column 6a, the second most im-
portant in 6b and the third most important in 6c¢. If the loan was used for only one
purpose, put that purpose in column 6a, and be unfilled in column 6b and 6c. If the
loan was used for two purposes, leave column 6¢ unfilled. As in section 6.2, busi-
ness and agricultural investments (code 1 and 2) relates only to durable goods
used for longer than one season, while business and agriculture expenses relates
to any other goods, such as seeds for non-permanent crops or goods to sell in a
shop. When the respondent answers to have used the loan for business or agricul-
tural purposes, please cross check with section 6.2, and enter the goods there, if
necessary. When the respondent answers to have used the loan for business re-
lated purposes, then fill in the ID of the specific business from section 6 for ques-
tion 6D.

71107 - 71108

If the household was borrowing in response to a shock, make sure that the shock
is listed in section 3.1. Fill in question (with the correct shock I.D. from section 3.1
(variable 31001)) and NOT the code of the shock.

71112 -71113

71114

71114a

71114b

The duration of the loan begins from the time a borrower received a loan until
he/she fully repays the loan. The reference period does not play a role for answer-
ing this question. The duration refers to the actual duration of the loan, not the one
that is initially agreed between a borrower and a lender. The actual loan duration
may be different from the agreed one if a borrower made a late repayment. In this
case, the actual duration should be entered in column 12. Please record the unit
in 13.

A borrower can pay back the loan in cash or in-kind. If the repayment is in cash,
put code A=5 in this column. If the repayment is in kind for example agricultural
outputs (e.g. rice or other crops) or food, put code A=4 in this column. If the re-
payment is a mixture of cash and in kind, put code A=90 and specify as ‘a mixture
of cash and the type of in kind.

question 14a: “repayment schedule” The purpose of this question is to examine
whether the repayment streams are made regularly or not, and whether the re-
payments depend on the financial situation of the borrower.

If a borrower has to pay back fixed amount regularly, e.g. pay back 1,000 baht
every month, then put code CC = 1. If the amount of each payment stream varies
but the repayment has a fixed schedule, e.g. pay back 100 baht for the first 10
months and 1,000 baht for the last two months, then put code CC = 2 (pay varied
but specific amount at each scheduled time). The loan from student loan fund be-
longs to this category. If payment is made whenever the borrower has enough
money, then put code CC = 3 (pay whenever the borrower has enough money).
For this case, the repayment has a flexible schedule.

This is the number of repayment times per year as initially agreed between the

borrower and the lender. If 14a = 1 or 2 (regular repayment schedule), then 14b
should be filled in. If 14a=3, then 14b should be 99.
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71116 - 71117

This is the interest rate of loan as initially agreed between the borrower and the
lender in percentage.

If a loan has no interest rate, put ‘0’ in column 16 and ‘1 (per year) in column 17. If
a loan has an interest rate of 2% per month, put 2’ in column 16 and 2 (per
month)’ in column 17. If the respondent does not know the interest rate, put ‘98’ in
both column 16 and 17

71115a - 71115b

71119a

71119b

If no payment has been made between 5/12 and 4/13 then put 0 in both columns.
This is the amount of cash or the value of goods that have already been paid back
starting from the first payment time until the end of 4/13. If no past payment has
been made before 4/13, then put 0 in this column.

This is the amount including some parts of principal and interests that a borrower
still owes as of 4/13. If the loan has been fully repaid, put 0 in this column.

If the respondent does not know either column 19a or column 19b, put 98.

Example for 71119a-19b. If full amount of principal and interests is 1500, possible
answers for 19a and 19b are:

19a: Total repayment of loan 19b: remaining Note

as of end 4/13 debt as of end

4/13

0 1500 No past payment is made before 4/13,
i.e. 19b=1500

1500 0 The loan has been fully repaid

800 700 The loan has been repaid and still owes

71133

71121

The purpose of this question is to determine if the household has totally repaid
each loan in total or if it still owes some amount of the loan. The respondent’s an-
swer to this question should be cross checked with the amount of loan the house-
holds still owes (column 19b). If 71119b greater than zero, then the answer to this
question (71133) should be NO, whereas, the answer to this question should be
YES, if 71119b is equal to zero.

If the loan has no collateral or if the collateral is in the form of guarantor or work
contract, then leave in column 21 unfilled (do not put 0 in these cases).

71122 - 71124

71131

71132

Installment

If there is no other requirement, record 0 in column 22, 23 and 24. If there is 1 re-
quirement, record the response in column 22, and put 0 in column 23 and 24. If
there are 2 requirements, record the most important requirement in column 22, the
second most requirement in column 23, and put 0 in column 24.

This is the location of the lender specified in column 9.

Record the travel time (in minutes) that a household normally needs to reach the
lender, irrespective of the method of traveling.

This is a special case which appeared during the survey time of wave 3. The purpose of this
example is to clarify the procedure for this common credit contract.

Example: In 2/52 (VN: 02/2009) a household buys a car exclusively for private use. Shocks
did not cause the purchase. The price of the car is 480,000 THB. The household agrees to
pay 100,000 THB immediately and to pay monthly 6,300 THB for 5 years. The car is owned
by the seller as long as the credit is not paid back. Additionally, some household’s friends
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have to guarantee for the loan. The showroom is located in the nearby district capital. The
household does not owe any other loans.

Answer:

3 4 5 6a 6b 6¢c 7 8 9 10

1 5 380,000 | 7 - - 2 - 61 2

11 12 13 14 14a 14b 16 17 15a 15b
52/2009 | 5 1 5 1 12 98.1 98 75,600 | 12
19a 19b 20 21 22 23 24 25 31 32
321,300 | 56,700 | 5 480,000 | 3 - - 52/2009 | 3 15
Notes:

Q5: The actual price was 480,000 THB. As the household paid 100,000 THB when he got the
car, the household borrowed 380,000 THB.

Q12: The duration of the loan is the whole time from the start of the loan until the end of the
loan. The reference period does not play a role for answering this question.

Q14b: Household and debtor agree on monthly payments, i.e. 12 payments per year.

Q16: The household does not know the interest rate. Please do not calculate the interest rate
as it is likely that mistakes happen. Hence, the only correct answer is 98.

Q17: The household does not know the interest rate. Please do not calculate the interest rate
as it is likely that mistakes happen. Hence, the only correct answer is 98.

Q15b: The household pays monthly during the reference period. We do not have information
of late payments. Thus the correct answer is 12.

Q15a: The household pays 6,300 THB for 12 months, which is 75,600 THB.

Q19a: The household pays monthly starting from 2/52 (VN: 2009). This yields 51 payments
until the end of 4/54 (VN: 2012). We do not have information of late payments. Thus the cor-
rect answer is 321,300 THB (51 x 6,300 THB).

Q19b: The remaining debt (in total) is (60-51) x 6,300 THB, which is 56,700 THB. This implies
a total debt value of 378,000 THB (60 x 6,300 THB). Please note, that the value of the princi-
pal plus the interest rate payments is smaller than the initial amount owed. This is incon-
sistent. Please check in this case with the household if all information is correct. If the house-
hold approves please keep the values as they are. In the data cleaning process, we will deal
with such cases.

Q20: The collateral is in this case the car. Usually the purchased item is used as collateral.
Other requirements may apply (as in this case). If the household does not mention the item as
collateral, please ask directly who the owner of the item was until the loan is fully repaid.

Q21: The value of the collateral is the full purchase amount, i.e. 480,000 THB.

Q25: For many installments this is the first time that the household borrows from the store.
For these cases the year is the same as the year in which the contract is closed.

7.1.4 B: Lending

General Instructions:
Fill in the lending ID from last wave and do not use the IDs from last wave for the next
lending. Also fill in the amount of the lending (column 4/5).

Specific Instructions:

71206a - 71206¢
Record the most important usage of the loan in column 6a, the second most im-
portant in 6b and the third most important in 6c. If the loan was used for only one

purpose, put that purpose in column 6a, and leave column 6b and 6¢ unfilled. If
the loan was used for two purposes, leave column 6¢ unfilled.

71207 — 71208
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This is different from question 7 in borrowing section because the person to whom
the household lent money did probably not suffer the same shocks as the house-
hold. If the household was lending to the borrower who used this loan to cope

with a shock, use the code of the shock (code |) for question 8 and NOT the shock
[.D. from section 3.1.

71211 - 71232 question 11 - question 32: see borrowing section.
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7.1.5 E: Savings

General instructions:

e Please remind the respondent that all information given here is strictly confi-
dential. It will only be used for scientific purposes
e Please be particularly sensitive about asking for cash at home

Specific Instructions:

71510

71511

71512

71514

71515

71516

71517

71505

71518

71519

71520

Record the most important source in 10a, the second most important in 10b and
the third most important in 10c. If there is only one source of savings, put that
source in column 10a, and leave column 10b and 10c unfilled. If there are two
sources, leave column 10c unfilled. Make sure not to confuse reason and source
of savings.

This question may be simply asked as ‘why do you/your household save?’ Record
the most important reason in 11a, the second most important in 11b and the third
most important in 11c. If there is only one reason, put that reason in column 11a,
leave column 11b and 11c unfilled. If there are two reasons, be unfilled in column
11c.

Record the bank account in a descending order of amount. If a household has
more than 4 bank accounts, then record the bank account with the largest amount
in bank account 1, the second largest in account 1, the third largest in account 3,
the fourth largest in account 4, and sum up the rest in row 5.

This is the account balance as of today (approximately as of 4/13). If possible, the
interviewer may ask the respondent to show the bank accounts. If a household
has not updated the bank account recently, then record the available account bal-
ance as the date closest to 4/13.

This is the account balance about a year ago (approximately as of 5/12). If a
household has not updated the bank account up to 5/12, then record the available
account balance as the date closest to 5/12. If the household owned 2,000 THB
on April, 1 2012 on his bank account Q15 is 2,000 THB. To be clear: This question
does not ask about the cumulative sum of payment throughout the year. You can
also use to information from the Household information sheet to clarify.

If a household has never withdrawal from this bank account during the past 12
months, then put 0 in column 16.

If a household has never added money this bank account during the past 12
months, then put 0 in column 17.

This is the name of the financial institution/group at which a household has a bank
account.

This is the location of the branch/group of financial institutions that a household
has saving account.

This is the travel time from household to the branch/group of financial institutions
that a household has saving account.

This is the interest returns or dividends (excluding the beginning balance) that a
household receives during the past 12 months (05/12-04/13) in THB/ 1000 VND.
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The household is supposed to give the interest rate payments he has received in
the reference period. If the household does not know the amount in THB, the in-
terviewer should ask for the interest rate (in per cent). If the household does know
the interest rate, the interviewer should calculate a proxy for the payments, i.e.
(average amount of the account) x (interest rate). It is feasible to calculate the av-
erage as the mean of the values of Q14 and Q15. If the household does not know
the interest rate, please put in 98. Do not assume any interest rate even if it
seemed to be feasible.

Remark: We ask for the hypothetical returns received not the actual payments.
This has some direct implications for the case when a household opens an ac-
count during the reference period. In this case there might have been no actual
payments. Even though the household might have already gain claims against the
bank. Therefore, also calculate the interest return in this case. (Background infor-
mation: if we do not use this broad definition of interest payments we discriminate
between person who opened their bank account during the reference period and
others. When we calculate the dividend payments using the percentage interest
rate we do not know whether actual payments have been settled.)

7.1.6 F: Financial Literacy

General instructions:

e Please read out the possible answers for the multiple choice questions.

e Please check only one answer for all of the questions in this section.

e Please don't let the respondents use a calculator and don’t help them calcu-
late as well. Instead let the respondents do the calculation in their head.
However, the respondent is allowed to use paper and pencil.

e Please be particularly sensitive while asking the questions in this section as
the respondent could be uncomfortable about making mistakes.

e |tis important that the enumerator does not indicate to the respondent wheth-
er he got the correct answer or not. This includes facial expressions, gestures
as well as telling the respondent.

Specific Instructions:

71601 — 71604 Please read out the codes!

Section 7.2
7.2.1 A: Public transfers and other payments

General instructions:

e Please read out type of program (code A) and ask whether any of the
household members has received any of these payments during the last year

e Make sure that, 1. the income you record here is from a governmental institu-
tion or an NGO and 2. the household did not pay contributions to be entitled
to receive the transfer. The latter would refer more to a private or government
insurance and is recorded in the next section.

e Each row is the transfer payment for one household member. Thus, if two
members of the households have two transfers each, the information should
be recorded in 4 different rows. If the household as a whole, not a single
member, received a transfer, then put the member ID of the household head
in column 1, and record the relevant information in that row

e Ask row wise.
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Specific Instructions:

72102

72102a

72103

72106

72107a-b

72108

Try to identify the public transfer program exactly in the Code. In case the transfer
received does not correspond to any of the specified programs in the code identify
exactly, whether the program is a government program (80), a commune program
(81), a project of donors (70) or any other payment (90). Use the regarding code
number in the questionnaire and describe exactly the name of the program or the
purpose/reason of the payment.

Please Specify whether the type of transfer is in-kind, in cash or a mix of both.

Record the amount of transfers received in THB/1000 VND. If the type of transfer
is in-kind, estimate its value and put the estimation in column 3. If the transfer is a
mix of cash and in-kind you estimate the total value and put the estimation in col-
umn 3. Record the actual amount of transfer received not the amount that the per-
son is supposed to receive. There are a few cases where a household member
received a transfer less than he/she is supposed to get. (For Thailand: Most of
these cases are cash transfer from ‘support to the elderly fund’). The payment is
sometimes delayed.

Pls. recode the month in numbers, e.g. 4 (for April).

Please record the month and the year the household received payment for the
very first time. PIs. recode the month in numbers, e.g. 4 (for April). If the first pay-
ment happened a long time ago and the respondent has difficulties to remember,
you should focus on finding out the correct year at least. Then you put 0 or an es-
timate for the season (e.g. “after harvest season”) for month.

Ask the respondent, whether the received payment has to be paid back. If the
money has to be paid back in any case, code 1. If the money has to be paid back
only partly or under certain conditions, code 2. Please ask exactly, whether there
are conditions under which the payment has to be paid back. Especially ask in the
case of scholarships. For example, in some cases they might have to pay the
scholarship back if they earn above a certain annual income, but not if they stay
below this threshold. Specify exactly!

72109-72114

7211112

72113

With the following questions you have to be extra careful! Pls. ask these questions
(question 9 and column 10-14) only to Thai households. Pls. be careful of the ref-
erence period (2009/10 and 2010/11). First you read out the text under question 9:
“From 2009 till 2011 the government offered income guarantee insurance for rice,
cassava and maize farmers. Please try to remember.” Make sure now, that the re-
spondent understands, that you are referring not to recent year, but to the years
2009/2010 and 2010/2011. Ask the respondent whether she/he understood that.
Then proceed with question 9 and double check whether the answer refers to the
reference period of 2009/2010 or 2010/2011. We are not asking about recent pad-
dy pledge program, but about the farmer income guarantee program, which used
to exist from 2009 to 2011!

If the household did not register for the government rice income insurance in
2009/10 and/or 2010/11 (column 11), specify the reason for not registering and go
to the next section. In case the household registered, Pls. recode the month when
the household registered in numbers, e.g. 4 (for April) on question 72112 (column
12).

Ask the respondent, how much compensation payment the household received

from this program. Write 0 if the household did not receive payment. Write 99 if the
respondent does not know.
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72114

Pls. recode the month when the household received the payment, e.g. 4 (for April).

7.2.1 B: Insurance

General instructions:

e Please introduce the section by telling the household head that we are inter-
ested in the various insurance arrangements the household members have,
in particular “funeral insurance” (Thailand) and health insurance (Vietnam).

e Please read out code B for types of insurances

e Each row is the insurance for one household member. Thus, if two members
of the households have two insurances each, the information should be filled
into 4 different rows. If the household as a whole, not each member, enrolls
in an insurance scheme, then put the member ID of household head in col-
umn 1, and record the relevant information in that row. Ask row wise.

e From 72205-32 will be recorded only for insurance arrangements the house-
hold maintains at the moment. These exclude the free health card (TH).

Specific Instructions:

72202

72205

72205a

72209

72212

72230

Please read out items in code B. This question only refers to official insurance ar-
rangements with the government, a government agency, a private company, etc.
Any contributions the household makes to an informal or local insurance club
should be recorded in question 33 to 38.

Attention! Please make sure, that you specify the type of insurance exactly in
terms of whether it is an insurance offered by the government / a government
agency or by a private insurance company. Note that some of the items are listed
twice (e.g. health insurance, crop insurance), one item under “Insurance offered by
government” and one item under “Insurance offered by private company”, respec-
tively. Make sure that you code exactly!

A note on code B “3” and “4”: “4” means a health insurance which covers costs
caused by physical disabilities.

VN: Code B “3” and “4”. “4” means a health insurance which covers costs caused
by physical disabilities.

Be careful: in case the household did not pay a premium for the insurance you
have to ask whether someone else (e.g. the employer) paid for the insurance.

This question refers only to the amount of premium the insured paid between
5/12-4/13. If an insured has not paid any premium between 5/12-4/13 or if the em-
ployer paid the premium, put 0 in column 9.

Please ask the respondent give the exact amount or a value of in kind (goods), if
households get any compensation payments from insurance policy during the last
year (e.g. from livestock insurance because of livestock disease such as bird flu or
compensation payments from (private) health insurance for medical bills house-
hold member had to pay in advance etc.) If an insured has never received any
compensation between 5/12-4/13, then put 0 in column 12.

Please ask the respondent if insurance membership is mandatory or voluntary.
“Mandatory” means that the insurance membership is required by law or that it is
obligatory for the household to have insurance whether it wants or not (e.g.
household member working for non-state business with more than 10 employees
or state enterprises etc.).
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72231

72232

72234

72235

This question wants to ask whether the insured has to pay for his costs in advance
which will be later reimbursed by the insurance company (e.g., an insured house-
hold goes to a doctor to get a medical treatment and is required to cover the cost
which should be paid by the insurance company and gets reimbursed later by the
insurance company).

The purpose of this question is to find out whether the insured has to make a co-
payment. “Copayment” refers to a payment owed by the insured at the time a cov-
ered service is rendered, covering part of the cost of the service. It is usually a
pre-determined amount set by the insurance company that the insured will pay
prior to receiving services and it is often associated with physician office visits.

Please ask the respondent if the household or any member of the household
makes regular payments to a local saving club and/ or insurance club. Note that
this is only a “yes”/’no” question. If the answer is “no”, proceed with the next sub-
section. The question refers to arrangements, where a couple of neighbors or
more people in a village contribute to common pot of money or a bank account.
Some of these arrangements are supported by the (local) government or NGOs
and often the funds are administered by a committee of vilage members. The ar-
rangement is informal in a sense that usually no insurance company is involved.

Please note that each row is the saving or insurance club that one household
member contributes to. Thus, if two members of the households contribute to two
saving or insurance clubs each, the information should be filled into 4 different
rows. If the household as a whole, not each member, contributes to a saving or in-
surance club, then put the member ID of household head in column 35, and record
the relevant information in that row.

72237 & 72238

Please write down the total amount of money paid both by the household member
and the club during the last 12 months, i.e., if the respondent replies to questions
by giving the detailed monthly contribution of the household member or the detail
amount received by the household member from the saving or insurance clubs,
then the enumerator should calculate and write down the total amount. For exam-
ple, if the household head is contributing 800 per month for a Joint sav-
ing/insurance for case of potential shock or general risk, then the enumerator
should write down 9600 (800*12) on column 37. Please note that values in Vi-
etnam are in 1000 VND.

7.3 Taxation

7.3.1 A: Tax payments

General Instructions:

e The purpose of this section is to obtain information on the perception of tax
payments, the actual taxes paid, and potentials for future tax increases.

e Since this section only focuses on taxes it is important to be aware of the dif-
ferences between taxes and fees. While the public administration uses taxes
to gain revenues and use them for different purposes (e.g. salaries for public
employees and providing public goods), fees are paid for a definite service in
return (e.g. irrigation of land).

Specific Instructions:

73001

Please, have a look at the interviewer instruction written next to the answer box.
Please read out code A 1-3.
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73002

73004

73005

73006

73007

73101a

If the respondent is not sure please give the House tax and the Personal Income
Tax as examples. Note that this is only a “yes”/’no” question. If the answer is “no”,
proceed with the next subsection.

Be aware that there are country specific taxes in code B. Please use “Excise tax”
in Thailand and “Special sales tax” in Vietnam for tax type 6. On the other hand,
the “Signboard tax” only exists in Thailand. Furthermore, if the household has paid
more than six types of taxes please list those with the highest payment contribu-
tions.

If the household does not know the exact amount please list an approximation.

Please note the household shall evaluate the complexity of the payment process
of each type of taxes paid. Therefore, the following should be taken into account
when answering this question: time taken to retrieve/collect the forms to pay this
type of tax, time taken to judge the relevance of all sections of the form and be
familiar with forms if changed, time taken to collect the information to fill in the
form, time taken to complete the form, time taken to submit the form, and if neces-
sary time needed for other activities to fulfil payment obligations for this type of
tax.

The purpose of this question is to examine whether the total amount of tax pay-

ments in the last year did place a big, small, or no economic burden on the budget
of the household.

7.3.2 B: Value Added Tax

Please look at the interviewer instruction written below the answer box and read
the text to the interviewee. Note that this is only a “yes”/’no” question.

73101b-73101i

Please record the tax rate for each of the listed products. First, ask the interview-
ees for each of the products whether they know that there exists a tax on it. If they
say “yes”, please fill in “1”. If they say “no”, please fill in “2”. If they do not know
whether there is a tax on that product, please fill in “97”. Second, in case that the
respondent state “yes”, please ask for the tax rate and fill them into the second
box. In case that they do not know the tax rate, please fill in “97”. Please notice
that this question not only focusses on the VAT but on any consumption taxes. For
example, alcoholic beverages are taxed by the VAT in addition to the Excise Tax
in Thailand (Special Sales Tax in Vietnam).

7.3.3 C: Future Taxation

73301 Please look at the interviewer instruction written on the right hand side of the an-
swer box. Please read out code E 1-3.
Section 8: Household Expenditures
General instructions:

e Household includes all members mentioned by the respondent in section
21

e Left Table: Ask for approximate expenditure of each item per MONTH.

e Right Table: Ask for approximate expenditure of each item per YEAR.

e  Only use local currency
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e Exclude durable goods from the estimation (these should be filled in Section
6.2 if above 5000 THB)

Specific Instructions:

80000

80001

80003

80002

80009

Example:

Item ID.: Fill in consecutive numbers only for expenditure items that the household
actually spent money on.

Line 38: This line can be used for additional educational costs, such as kindergar-
ten. Please ask for these costs.

Please ask this question only for food and drink items, i.e. only for lines 1 to 11.

Sub- Totals (line 15, line 25, line 30, line 39, line 45, and line 55) should only be
filled in, if the respondent is not able to give details. Anyway, they might be helpful
for assessing validity of the data. Therefore, when recording, calculate sub-totals
(but don’t fill them in). Ask the respondent again, in case sub-totals seem too big
or too small.

Enter 0 if the household rents its house, but does not have to pay a rent.
Skip or leave blank if the household is the owner of the house

Remember the following example from section 2: Child 1 of household head is stud-
ying in the capital city and therefore absent for 300 days received support from
home: Enter the total value of support received from household. If child 1 pays the
dorm rent from that money make sure that in the consumption expenditure section 8
no additional dorm rent is given.
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Section 9

9.1: Household Wealth

General instructions:

e Ask row wise!
e Read out assets (column 1)

Specific Instructions:

91005 Question refers to the average household in your village.

91006 Question refers to the average household in the entire country. Use Code B.
91007 “Minimum net income” is the money needed to barely sustain a household.

91008 Fill in the three major reasons why the respondent thinks rich people have high in-

comes. Please fill in the answer in order of importance.

91009 Fill in the three major reasons why the respondent thinks poor people have low in-
comes. Please fill in the answer in order of importance.

91010 Question refers to the people with whom the households compare themselves with
when the compare they compare their standard of living.

9.2: Housing Conditions

General instructions:
e Houses: Do not count stables and animal shacks, unless humans live inside.
e Please have a look at the house to verify answers when response is not clear. All
questions should be answered!
Specific Instructions:
92000 Number of houses inhabited by this household at this place
92001 Ask respondent for the approximate size of each house and add them up for him.
Hint: If estimation is difficult ask how many times a long bed can fit to a wall (out-

side wall). A long bed is nearly 2 metres long.

92002 Total of all houses inhabited by the household, put one room at least! Rooms sep-
arated by plastic sheets count as one room.

92003 — 92005
Refers to newest house only. (Not those under construction)

92016 Question refers to value of the houses recorded in 92000, excluding the land
it/they are built on. Be sure the amount seems plausible.
You may help with the respondent to estimate the value by asking the following
questions:
If you were to sell this house today how much do you think can you earn? Ask for
approximate value in case house was to be sold to a rich person from the village
or from the next town.
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92017

92018

Fill in the three major improvements that the respondents made on their house
since 2010. Please fill in the answer in order of importance based on the amount
of money spent on the improvement.

Fill in the amount of money spent on house improvement in total. Vietnam: Be
careful, reporting units are 1000 VND!

7.1.6 F: Financial Literacy

General instructions:

Please introduce the section by explaining that we would like to understand
how the respondent deals with and calculate certain finance related things.
And ask for the willingness of the respondent to do four short calculation
tasks.

Please don't let the respondents use a calculator and don’t help them calcu-
late as well. Instead let the respondents do the calculation in their head.
However, the respondent is allowed to use paper and pencil.

Please be particularly sensitive while asking the questions in this section as
the respondent could be uncomfortable about making mistakes.

It is important that the enumerator does not indicate to the respondent wheth-
er he got the correct answer or not. This includes facial expressions, gestures
as well as telling the respondent.
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Appendix

DFG FOR 756
Household survey
5" wave 2013

Exercises and Role Plays for Training
in Thailand and Vietham

Introduction

These exercises and role plays are meant to help the enumerators who will conduct the fifth
wave of the household survey for the project on vulnerability to poverty of rural households in
Thailand and Vietnam. The exercises are prepared for the different sections of the question-
naire. They are mostly short and actually are like exam questions. The correct answer will be
provided after you have done the exercise. Doing these exercises should help enumerators to
better understand the nature of the questions and become aware of difficulties with possible
answers of respondents. In fact, many of the examples have emerged from the data cleaning
process of the first fourth waves.

The role plays are special exercises where someone plays the respondent using a prepared
story. The enumerator must then learn how to assess the information given by the respondent
and ask back for clarification.

After having done the exercises and role plays enumerators should be more confident to
make decisions in the field and navigate through the questionnaire during the interview effi-
ciently. The exercises and role plays are prepared for both trainings in Thailand and Vietnam
but some exercises are specific to the situation in one of the two countries.

The first part of the document contains normal exercises, which relate to specific questions in
the questionnaire and the second part has a collection of role plays.
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Section 1
Vietnam specific:

10008 The interview time per plan was supposed to start at 8.30 a.m. but because
the respondent was not there the interview actually started at 2 p.m. What
time do you put?

Answer: 2 p.m.

10014 Interviewer “A” was assigned for respondent “B” and a defined date and time.
But because interviewer “A” did not feel well on that day the field supervisor
took over another day and conducted the interview. Whose name is to be put
in Variable 10014 and whose name will be put in variable 100167

Answer: the name of the field supervisor
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Section 2

21

21022

21005

Answer: 14
21014

Answer: 16
21016

21019b/18

1. Household member in question left the household at 8/11. Since it means
that the member left before the reference period, fill in the correct number!
Answer: 3

2. Household member in question left the household at 11/12. Since it means
that the member left in the reference period, fill in the correct number!
Answer: 2

The household member in question is an adopted son. Fill in the correct
number!

The household member in question has not got a job. The reason for this is a
serious iliness he suffered from. Fill in the correct number.

Household member in question stayed in the household from January 2012
until the end of July 2012. Fill in the correct number.
Answer: 92 (90 is also ok)
1.) Household member in question went to
e Thailand: nai khet thetsaban in the same province but in another dis-
trict. Fill in the correct number!
Answer: 5
e Vietnam: a town with 7000 inhabitants in the same province but in
another district. Fill in the correct number.
Answer: 5

2.) The household member in question went to Bangkok (TH)/ Ho Chi Minh
City (VN). Fill in the correct code!
Answer: TH: 9 (and not 7!) / VN: 11 (and not 7!)

Vietnam specific:

21020

2.2

22009

23

23009

Answer: 33

23013

23013a

24

24002-13

From household member in question the household received 98000 Dong. Fill
in the correct number.
Answer: 98.1 and 21019a=1

Household member in question became a refugee. Fill in the correct number
(code).
Answer: 13, check 21010

Household member in question lost two fingers when he/she crashed his/her
motorbike. Fill in the correct number!

Household member in question did not do anything. Fill in the correct number
and mark the question with which you are supposed to proceed.
Answer: 0; skip to question 14

Household member in question got main treatment in a district town in anoth-

er commune. Fill in the correct number.
Answer: 4

The household head that was born in the same village and temporarily had
been in Hanoi/Bangkok during the reference period sent approximately 94000
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24002-13

24002-13

VND/ 3000 THB to the household during the reference period. Fill in the cor-
rect numbers.
Answer: nothing has to be filled in

The household was invited to a friend’'s wedding. The friend VN: Tung/ Th:
Sommai, age 28, was born in the same village and lives currently in Hanoi /
Bangkok. The gifts for the friend had a monetary value of approximately
400,000 VND /400 THB. Fill in the correct numbers!

Answer: Q2: Tung (VN)/Sommai (TH), Q3: 1, Q4: 28 Q5:12, Q6:1, Q11: 10
(VN)/9 (TH), Q12:0, Q13:400

Household member got many gifts from many friends in the same commune
on her birthday, valued 900,000 VND / 900THB. Fill in the table.

Answer: Q2: gift, Q3, 4 empty, Q5: 12, Q6: 1, Q11: 1, Q12: 900, Q13:0

2.5

25002

25004

25005

25009

The household head indicates that he very much trusts people in the village,
but is indifferent with respect to people his is regularly buying from and selling
to on markets. Fill in the correct answers!
Answer: 5 (people in this village), 3 (traders)

The household provided assistance to relatives who live in the same village.
Fill in the correct answer code!
Answer: 1 (family or relatives)

The respondent says that he stays informed via his relatives who live in the
same village. At the same time, he listens to the radio and receives infor-
mation by the village chief. What are the correct answer codes?

Answer: 1, 5, 8.

The household head indicates that he has just taken up a loan which has to
be paid back in one year. However, he also expresses concerns of what the
financial situation will be like in 10 years when his children have grown up and
states that he puts some money aside for this purpose. What is the correct
answer code?

Answer: 5 or 6 (question about general financial planning, not specific savings
/ credit products)
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Section 3
3.1.a

31002 The respondent does not remember any shock. What do you do?
Answer: Leave blank and skip to next section. Do not read out Code Al

31003 The shock occurred in August and September 2012. Fill in the correct num-
ber
Answer: 08 month when the shock started.

31.b
31001 In section 3.1.a two shocks were mentioned by the respondent. When reading
out the first shock in the table of section 3.1.b (“iliness of household member”)
the respondent states that this shock took place. Fill in the correct ID.
Answer: 4
31008-10 One adult member of the household moved to live in another relative’s
household due to the shock. This was the only coping activity. Fill in the cor-
rect numbers.
Answer: 9,1,1
31008-10 In order to cope with last year's shock, the household sold livestock, took
some children out of school, and sold some assets.
Fill in the correct numbers (in order).
Answer: 11, 6, 14
31012 By the end of November 2012 the household had fully recovered from a
shock that took place in July 2012. Fill in the correct number.
Answer: 5
3.1.e
31013a After asking the question the respondent complains about how difficult life still
is. You ask again if life has improved, but the respondent doesn’t think it has
improved. What do you enter?
Answer: 3
31014a After asking the question the respondent starts complaining about the big
floods that destroyed the harvest 2 years ago. Ever since, life is very difficult.
What do you enter?
Answer: 4 or 5
31015 /16 After asking the question the respondent tells you that income always fluctu-
ates after harvest, but that the household is used to it. What do you enter in Q
15 and Q167
Answer: Q 15: 2, Q 16: 3or 4
3.2
32003 Respondent says a) ‘don’t know’ in Q32002 or b) “no” in Q 32002, which is
the next question, 32004 or 32013 or next row?
Answer: a): 32004, b) 32013
32014 In order to prevent flooding, the household build small damns around their
fields. Fill in the correct number.
Answer: 16
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32014

32015

32016

Answer:

To prevent theft, the household raises a dog. Fill in correctly for Q14 and
Q15. What do you have to ask for to get a plausible answer?

Answer: 18, Cost of buying a little dog (divided by years a dog lives), and cost
it in the last 12 months.

For income diversification, the household bought some land to grow vegeta-
bles in 07/12 for 50000 THB / 50 million VND. Can you answer 32015 or do
you need more information?

Answer:

You should not just fill in 50,000 / 50 million VND, since net costs per year
should be estimated. How long will you use the land (depreciation). How
much does planting of vegetables cost, including forgone income due to time
worked in the garden). Of course this is difficult to estimate, but you should
try.

A household thinks that they might face a drought 2 times in the next 5 years,
and a strong increase in input prices 3 times within the next 5 years. For the
both the impact on the income would be high, but no impact on their assets.
To mitigate the impact of both, they store some rice seeds with a value of
1000 THB/1 million VND. Please fill out the table.

0

2 4 3 3a 13 14 15 16

12

11

1 2 1 4 1 10 1000 22

25

22
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Section 4

4.1

General The household has a pond, 200m2. Fill in or not?
Answer: yes

41003 The household has a house of 120m2, it is in the garden of 230m2.
Which number do you fill in?
Answer: 230. Note: DON'T fill in 120
VN: The household has a house of 140m2, it is in the garden of
1100m2. Which number do you fill in?
Answer: You should divide it into 2 parcels. 1% is homestead with
300m2 (limited by the law- CHECK) and the 2" is 800m2, code 4 in
Q41004.

41003a You found that the information of the area of a land parcel in the in-
formation sheet is incorrect. How can you deal with this? Do you
need more information?
Answer: Check, whether only the land is incorrect, but the rest of the
information (from the household information sheet) fits roughly. If so,
correct the area. If the description does not fit at all, use Code 5 in
Q41003a. Leave the row empty, and fill in the correct information in a
new row.

41003a The household tells you that they allow their neighbours to use some

of their land for feeding the buffalos, but they do not have to pay for
this. Do you have to enter this land plot? If so, fill out the table. Which
additional information do you need? How would this change, if they
gave it to their neighbours as a present?

Answer:

2 3 3a |4 5 6 7 8 9a |10 | 11f | 11g |11e |12 [ 13 |14
X X 1 2 1 X X X X 0 99 | 99 0 X X X

X X 4 0

X — information still needed

41007 Respondent says he has received his farm land through land allocation from
the Land Development Department but he does not know the value if he had to buy the
land.
Which code do you put and how do you obtain a value for the land?
Answer: Put Code 6 in 41007 and in 41009a ask respondent if he
knows the price of similar land either on his own farm or from his
neighbours.

41003 Respondent answers that he has three parcels of land: rice, cassava
and gardening land, which belongs to the homestead.
Where do you report the land for gardening?
Answer: Information on land is in row 1 and details of land use are to be reported in
section 4.2

4.2

General_1 The household has a 500m2 garden, grow variety of fruits, tea, vege-
table, sweet potato. All are not for sale, used only for household con-
sumption and feeding livestock. Do you fill in anything in the table?
Answer: fill in some rows, each row represents a group of trees. They
are not for sale but the household had to buy these products if it had
nothing in the garden.
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42002 Respondent plants rice for seed production but he does not sell the seeds. He
has harvested 600 kg per rai/ 1000 m2.

Where do you report the quantity?

Answer: in 42010 and 42013a

42006/8 A HH has a five year old pomelo orchard.
What do you report as the planting period?
Answer: Q 06: year 2550 (2007), Q08: empty

42000 The respondent said his total harvest from his three plots of rice is 6000 kg
and as of today he keeps 1000 kg in his own storage.
Where do you report the 6000 kg and where do you report the 1000 kg?
Answer: interviewer must ask respondent to split up among the three plots. The
stored amount does not need to be split up.

420010 - 15
42017 - 21
42025a

42037a - 42045d

42037a - 42045d

4.4

44002

The respondent reports the following amounts for one plot: The har-
vested in total 1300 kg rice, of which the household consumed 500
kg. They reserved 20 kg for seeds and sold 800kg. Would you accept
these amounts?

Answer: the balance is not correct. In this case total production
should equal home consumption plus seeds plus sales.

The household grow gluey trees 7 years ago; they are expected to be
cut in 10 years. All the cost in Q42017-21 is spent in 2008 and 2010.
How do you fill in the columns 17-217?

Answer: fill in O for this reference period.

Respondent has 10 rai / 1000 m2 of rice planting traditional varieties.
He reports the use of 50 000 Baht/ 500,000 VND of herbicides use.
Would you accept this information?

Answer: Amount for pesticides is unreasonably high. Please ask the
respondent for details of use (Number sprays, type of pesticides,
etc.) and correct the amount, if necessary.

The household hired 10 labourers to work for 6 days each for 8
months for land preparation. Usually labourers work 6 hours a day,
but the last two months the labourers worked only 4 hours a day be-
cause the household didn’t have enough money to pay for the la-
bourers. What would you fill in column 37a and 37b?

Answer: Q37a=480, Q37b=6

The household head and his wife usually do the hand weeding for
their rice farm themselves instead of hiring day labourers. The
household head usually spends from 3:00pm to 6:00pm in the after-
noon hand weeding for 50 days after the seeding and the wife helps
the household head with hand weeding for 30 days usually for two
hours from 4:00pm to 6:00 pm. However, the wife didn’t help in the
last twelve months because she had to take care of her ill mother.
What would you fill in column 39¢ and 39d?

Answer: Q39¢=50, Q39d=3

HH with 5 members says he alone goes fishing in his own pond and
says that he harvests 25 tons of tilapia fish per year.

What could be wrong with this answer?

Answer: Interviewer must check if this activity belongs to aquaculture
(section 4.3)
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44002 - 44017a

A household with 4 persons, husband, wife and two children who

still go to school went to a forest to cut firewood 15 times (one day
each) and to collect wild plants during the period 05/12 and 04/13.
The forest is owned by a friend and the HH does not pay for access.
Each time they collected approximately 40 kg of firewood, which is for
home consumption only. Respondent estimates the value of the fire-
wood with 1200 Baht/ 120,000 VND. The HH also collects 2 different
types of wild plants in the same forest for home consumption. From
the one type HH collects 5 kg with a total value of 150 Baht/ 15000
VND. From the other type of wild plants HH collects 30 kg with a total
value of 900 Baht/ 90,000 VND. HH is collecting wild plants at the
same time while cutting wood. HH pays 38 Baht for the transport to
the forest (fuel) for each time he goes to the forest. The HH does not
hire labor for cutting wood. In addition to collecting firewood and wild
plants, HH goes fishing (snakehead fish) in a canal of the community.
There is no need to pay any access fee. The respondent says that he
and his wife are going at least every other day or more. He estimates
the total times with 200 days. He estimates the fish catch with 1 kg
per fishing on average. He sells half of the fish and estimates the total
value at 16000 Baht/ 16,000 VND.

Questions: 1) Would you accept the values for firewood and fish? 2)
Fill in the information provided by the respondent in the correct col-
umns.

Answer: 1) Value of fish seems OK, but for firewood 2 B per kg
seems high so the interviewer should check again.

1a | 2 3 4 |5 |6 8 9 |10 |11 12 | 12a | 13
1 13 6 3 |0 |98 |05 |04 |15 |[190 |0 |O 12
2 |3 6 3 |0 |98 |05 |04 |15 |[190 |0 |O 16
3 |3 6 3 |0 |98 |05 |04 |15 |[190 |0 |O 16
4 11 5 1 |0 |98 |05 |04 [200 |0 0 |0 3
Part 2

1a | 14 15a | 18 16 | 16a 17a

1 | 600 |2 0 600 | 18000 | 18000

2 |75 2 0375|225 |0 225

3 450 |2 0 450 | 13500 | 13500

4 1200 |2 100 | 100 | 800 1600
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Section 5

50001

50009 - 50013

50014 — 50021

50022 — 50030

A household with 5 persons (husband, wife, and 3 children) is mainly
engaged in agricultural production on its’ own farm. However, for 6
months during the last year, the father also worked as an agricultural
wage worker (harvesting cassava and corn) on a neighbouring farm
and the oldest son (26 years old) was working as a construction
worker in an urban area in another province for 9 months since he left
home. Now he is in a leading position and is still in that urban area
during the time of the interview.

Question: Would you record both jobs?

Answer: Yes

The son (26 years old) is said to return 2 times a year, he comes
back on a motorcycle and his place of work is 7 km away from the
home village.

Question: Would you accept this information?

Answer: To return 2 times a year seems normal but why is the urban
area in another province only 7 km away from the home village? You
should check whether this is possible.

It took the son no time to find the job and he got it because of his job
experience of 10 years.

Question: Would you accept this information?

Answer: He is only 26 years old — 10 years of job experience in con-
struction work seems very much. You should check this information
again.

The father received 6.984 Bath/ 72 1000 VND per day and no non-
monetary benefits in his job on the other farm. He worked for 8 hours
a day and for 15 days a month.

Question: Would you accept this information?

Answer: Amount seems too high for a daily wage. Perhaps this is the
monthly wage?
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Section 6

60006a

60003 — 60016b

60017 — 60020

60034 — 60036a

A household has a rice mill in operation. The father tells you that he
worked at a rice mill before and decided to open his own one.
Question: What is the correct code number?

Answer: 2

A household with 4 persons (father and mother with two children at
the age of 12 and 16) has a small shop in operation in order to sell
food and drinks to people in the village. When you get to the home,
the mother and the oldest daughter are sitting behind the desk. The
father tells you the business is run by the mother, is not registered,
and there are also no employees (no family and no non-family mem-
bers).

Question: Do you accept this information?

Answer: Why is the daughter also behind the desk selling things?
You should check again, maybe she can be counted as a family em-
ployee.

It becomes clear that the daughter is also working as an employee in
the business until she finds another job. However, she has no written
contract.

Question: What do you enter this in 60017 — 600207

Answer: Fill in a 1 for limited (verbal agreement) and a 0 for the other
types of contract.

Suppose a household states the following values for 60034 — 60036a:
70, 20, 30.

Question: What is wrong?

Answer: Values are shares and should add up to 100%. In this case
70+20+30=120. You should recheck the values.
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6.2

62001/2/

62013

62019

The HH has bought the rice field of the neighbour in 2004 for 60000 THB/ 60
million VND. In 07/2012 they had to buy seeds for the rice plantation for 7000
THB/ 700000 VND. A water pump was necessary in 09/2012, normally it has
a price of 5500 THB/ 2 million VND, but since they know the shop owner they
just had to pay 4000 THB/ 1.2 million VND. The harvest was good, so they
build a new storage room, for hired labour and materials they paid 7000 THB/
7 million VND.

In 2012 the son decided to do some additional education in the provincial
capital, so they bought a motorcycle for him for 7000 THB/ 7 million VND.
The family also lives near a lake. Since one of their boats had a leak and the
father decided that is was too dangerous to use, they needed a new one.
Since they found a really good offer (each 4800 THB/ 1.1 million VND), they
even bought a second one for the uncle, who also lives in the household.

Questions: 1.) What would you fill in Q1-3a?

2.) What technical characteristics would you ask for?

3.) What would you ask to correctly fill out Q47?

4.) Are you able to give any information on Q10, and how would you code it?

Answers: 1.) Rice field purchase was longer ago than 5 years, rice is not a
permanent crop, so does not count as investment. Since they paid only 4000
THB/ 1.2 million VND for the water pump it is not an investment as well, no
matter what the original purchase price was. The storage room is an invest-
ment, therefore Q1=1, and Q3a=4. The motorcycle should be entered, but its
use should be reported as private in Q 8. The boats are one investment deci-
sion, therefore the price is 9600 THB/ 2.2 million VND, they have to be in-
cluded in Q3 and Q3a=25

2.) Storage: Code B1: m2, boat: if it has a motor: Code B2=2, otherwise leave
blank.

3.) Ask where the storage room is located.

4.) Investment in boats because it was too dangerous, Code E= 90: reduce
accident risk. Investment in motorcycle E =90: investment in social capital.
Investment in storage because of a good harvest, which means a better in-
come, Code E=1

Since the son decided in 2012 to attain an educational programme in the pro-
vincial capital, the household decided to sell the small shop the son had
worked in before, to bear the costs of going to school.

Question: 1.) What information is necessary to fill in Q13, 15 and 167 2.)
What would you fill in (Q13-19) if you had that information?

Answers: 1.) It can only be included as a divestment, if the price was higher
than 5000 THB/ 5 million VND.

2.) If it would be lower than 5000 THB/ 5 million VND: Q13 = 2, leave the rest
blank.

If it would be higher than 5000 THB/ 5 million VND, Q13=1, fill in Q15,
Q16=11, Q17= price. Need information for Q18/a. Q19=2, since they needed
the money to pay for the school, which is investment in human capital.
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Section 7

71A

71101-02

Case (1) a household has only borrowed 10,000 baht/ 10 million VND from
BAAC/ agricultural bank 3 years ago and has fully repaid the loan in March
2012. Case (2) a household has only borrowed 20,000 baht / 20 million VND
from Rung Thai Bank/ Dong in January 2011 and has fully repaid the loan in
December 2012.

How do you fill in 71101-2 for case (1) and (2)?

Answer: case (1) 71101=1 (yes), 71102=2 (no); case (2) 71101=1 (yes),
71102=1 (yes).

71107-06a-6¢ A household took two loans. The first loan was used for business investment;

71107-06a-6e

71107-08

71114

71114a - 14b

71116-17

71119a - 19b

the second loan was used for business related expenses.
Question: Are both loan business related?
Answer: yes

A household took a loan. The loan was used for medical treatment, for a
wedding and for business investment.

1. Question: What are the correct code numbers?

Answer: 10,11,1

2. Question: What should you fill in field 6d?

Answer: The business ID which is related to the business investment.
3. Question: What should you fill in field 6e?

Answer: The share of the loan which was business related.

A household took a loan. A share of the loan was used to buy expensive
medicine for a sick household member. What do you fill in 71107 and 711087
Answer: 71107=1 (yes), because household was borrowing because of a
shock (please don’t forget to check if this shock is recorded in section 3.1),
72201=shock |.D. from section 3.1, and NOT the shock code!

If a household took a loan of 5,000 baht/ 5 million VND and has to repay the
loan by cash for principle and pay back in rice as the interest payments, how
do you fill in 711147?

Answer: 71114=90 (mix of cash and rice).

If a household is currently owned a loan but can pay back any amount when-
ever he has enough money, how do you fill in 71114a — 711114b?
Answer: 71114a=3, 71114b= [blank].

Suppose a household borrowed 10,000 baht/ 10 million VND from neighbour.
When asking a respondent about the interest rate on loan, the respondent
answers no interest but when asking about repayment streams, the respond-
ent says that he has to make 1,000 baht (1 million VND)/month for 12
months.

Question: How do you fill in 71116-177?

Answer: The interviewer should calculate the total repayment which is 12,000
baht in this case. This repayment is greater than the loan the household took,
thus the respondent’s answer of ‘no interest’ is probably not correct. The in-
terviewer should show the total calculation and ask respondent whether this is
correct. If the respondent does not know the interest rate, fill in 98.

If a household has to repay 10,000 baht/ 10 million VND in total and already
made some repayments as follows: 1,000 baht/ 1 million VND in Jan 2012;
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71103 — 32

71E

71510a-c

71514-17

71520

7.2A

72102-6

1,000 baht/ 1 million VND in May 2012; and 2,000 baht/ 2 million VND in Dec
2012.

Question: How do you fill in 71115a — 711115b and 71119a — 711119b?
Answer: 71115a=3,000; 71115b=2; 71119a=4,000;71119b=6,000.

Goods on instalment: suppose a household bought a motorcycle in Jan 2012.
A household has to pay 10,000 baht/ 10 million VND for initial down payment
and has to make monthly payments of 1,250 baht (1250 million VND)/month
for 20 months (or the interest rate is 2% per month).

Question: (1) What is the type and amount of the loan? (2) How do you fill
repayments of the loan? (3) What are the collateral and its value?

Answer: (1) 71104=2; 71105=25,000 For good on installments, the value of
loan is the total value of monthly payments (1,250x20) and excluding the ini-
tial down payment.

(2) 71114=5;71114a=1,71114b=12,71116=2,71117=2,71115a=15,000,
71115b=12,71119a=20,000, 71119b=5,000.

(3) 71120=5, 71121=35,000 the value of collateral for goods on installment is
the sum of initial down payment + total monthly payments. The reason why
the sum of these amounts is the value of collateral is that if a borrower cannot
complete monthly payments, the motorcycle will be seized. The borrower will
lose a motorcycle with an estimated value of (1,250x12) and the initial down
payment (10,000 baht / 10 million VND that has already been paid).

The respondent tells you, that he usually saves a part of his income, and that
he saves in order to be a member for borrowing a loan. How do you code
these answers?

Answer: Salary = 1, but the second answer is not a source of saving!

The household has a saving account. The amount of savings was 1,5 Mio
Dong /1000 THB on year ago. During the year the household members added
4 times 100000VND/ 2000 THB to the savings account and withdrew 200000/
800 THB once. What do you fill in 71514-17? Answer: 71514=1,7 Mio Dong
(1,5 Mio + 4*100000Dong — 1*200000VND=1,7 Mio Dong// 8200 THB (1000 +
4*2000 -800)), 71515=1,5 Mio Dong / 1000THB; 71516=1 and 71517=4.

The household receives 7 percent interest per year on the average savings it
holds in that account. What is the return on the account? Answer:
71520=0,07*average savings. Careful: This is only a proxy. Ask first if some
household member knows the exact amount of interest payments received
during the last year.

The harvest of a household suffered from a tropical storm. The household re-
ceive financial help through the government and food aid from an NGO. What
do you fill in 72102-6?

Answer Row 1 (government): 72102=2 (Vietnam) and 72102=52 (Thailand),
72102a=1 (because help was in cash), 72203=cash amount, 72206=month
cash amount was received. Answer Row 2 (NGO): 72102=70 (Vietnam and
Thailand), 72102a=2 (because help was in kind), 72203=estimated value of
food aid, 72106=month food aid was received, 72107 = month as in 72106
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72109-14

72B

72201-3

72205

72205-30

72231-32

72233-38

7.3

73004

and year is 2012/2013 because it is a one-time support, 72108 = 3 after you
checked that household does not have to pay back.

The household registered for the income guarantee insurance for rice farmers
on December 2010. The farmer received 11,940 baht for 10 tons of white rice
paddy on February 2011. The household did not register for 2009/2010 be-
cause the farmer did not about the program in time. What do you fill in 72109-
147

Answer: 72109=1, 72111(2009/ 2010) =1, 72112(2010/ 2011) =12,
72113(2010/ 2011) =1, 72114(2010/ 2011) =2

A rather poor family receives health insurance through government program
(free health card). The household head would like to buy some livestock in-
surance, because last year some of his chickens were killed by the bird flu.
But given all the other expenditures he cannot afford other insurance. What
do you enter in 72201, 72202 and 72203 and what do you do about the rest
of the section?

Answer: You fill in 72201=1 (yes), 72202=2 (no) and 72203=3 because the
household head finds other insurance too expensive. Afterwards you go to
Q33 because the household does not have any other insurance arrangement.

A family member works for a big company that provides health insurance.

He works in the province capital. What do you enter in 72205, 72215 and
722167

Answer: 72205=53 (TH) / 3 (VN) (because type of insurance is health insur-
ance), 72205a=1 (because he gets the insurance through his employer in the
province capital and the premium is covered by the employer), 72209=0 (be-
cause he gets the insurance through his employer in the province capital and
the premium is covered by the employer) and 72230=1 (because he works in
a big non-state company as an employee and thus health insurance is man-
datory for him).

During the last year, the household head was involved in a traffic accident.
His arm was x-rayed but was not found to be broken. Thus he could go home
after the doctor had a close look at his aching arm. The father did not have to
stay in hospital overnight. He had to pay 20 percent of the bill, while his insur-
ance covers the other 80 percent. What do you fill in 72231-327 Answer:
72231=1 (because he had to pay the bill or a share of it), 72232=1 (yes, be-
cause he always has to pay a certain share of the bill as a co-payment when
he needs treatment.

A household started contributing 500 per month on July 2009 to a joint saving
club in order to save money to be used for consumption purposes in case of a
crop frailer. The household received 1000 in October 2012 from the club and
used it to cover two months of consumption expenditure as the household did
not earn enough due to flooding of its farm. What would you fill in 72233-387?
Answer: 72233=1, 72236=3, 72237=6,000 (for a Thai household and 6 for a
Vietnamese household as the unit is in 1000 VND), 72238=1000 (for a Thai
household and 1 for a Vietnamese household as the unit is in 1000 VND).

The respondent names land tax, garbage fee, corporate income tax and irri-
gation dues as types of taxes paid in the last year. Question: What is wrong?
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Answer: Garbage fee and irrigation dues are no taxes. That is because the
respondent receives a definite service in return. Hence you do not fill these
payments in the table.

73101b-73101h
The respondent states the following values for 73101c-73101d: 30 and 120 in
Thailand/ 250 and 1500 in Vietnam. Question: Do you accept this infor-
mation?
Answer: You should check again, maybe the respondent names monetary
values instead of percentages.
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Section 8

80002-3 The household (4 persons) eats 10 eggs and spends 20 Baht / 20 000 VND per day
on eggs. What do you enter in row 5? Do you accept the answer?
Answer: 80003=10*30, 80002=600 (=30*20) How much does an egg cost? Is this
reasonable?

80002 The household spends 300 Baht/ 300,000 VND every week on cigarettes and 2000
per month on alcohol. What do you enter in row 13?
Answer: 3200 (=4*300+2000)

80002 The household spends 1000 per month/ 1,000,000 VND on lunch, of which 200 Baht/
200000 VND is consumed by children attending school and university. No pocket
money is paid. What do you enter in row 37?
Answer: 2400 (=12*200), but better too ask again regarding semester break.
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Section 9
9.1

90002

90003 -9

9.2

90001

The household owns two tractors with 2 wheels. One is broken. What do you enter in
row 1?
Answer: 1: Broken items should not be entered.

The household owns one pick-up truck which cost 50,000 Baht/ 50 million VND when
bought 3 years ago. The answer to 90009 is 80,000 THB/ 80 million VND. What do
you fill in?

Answer: 90003= 50.000, 90004= 3, 90009: value too high!

Imagine this room is the house of the respondent, and you are just conducting the in-
terview there. This is his only house. You ask him for the size, he answers 15 m2. Is
this a plausible value? Try to estimate the size of the room yourself.

Answer: (?)
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Role plays for single sections.

These role plays describe one (imaginary) household section by section. You can do this exercise in
teams of two: one is the respondent (reading information from this exercise), the second is the inter-
viewer, filling out his questionnaire. You might check together, if you think the questionnaire is entered
correctly. Especially take care, if the respondent got confused or forgot something. Cross checks will
be useful.

Section 2 — Household information:

Last year there have been five household members: The household head, his mother, his brother, his
daughter and her husband. The household head is the respondent. This year there is one new house-
hold member. The enumerator is supposed to fill in the information about the new household member.

Information for the respondent:

2.1: The new household member is the six months old daughter of the daughter of the household head
(ID 6). She was born in the same village, is of Chinese (Han) origin, and Buddhist. Since she was born
she never left the household.

2.3: The girl weighs about 3200 grams and measures approximately 48 centimetres. Since two weeks’
child is suffering from influenza which has been the only illness it suffered from so far. The mother
went with the child to a doctor in the next clinic. They went only once and only to this clinic. The clinic
is in another village but in the same commune. Mother and child stayed at the clinic for a couple of
hours and returned home afterwards.

Answers:

1 2 22 3 4 5 6 7 8 9 10 11 12 13
6 1 2 0 8 1 0.5 3 4 1 2
1 2 14 15 16 17 18 19b 19 19a 20 21
6 11 11 180 2 99 99 99 99 99.1 99.1

Section 2.2 - Education

1 2 3 4 5 6 7 8 9 10 11 12 13

6 2 2 2

Section 2.3 - Health

1 2 3 4 5 6 7 8 9 12 13 | 13a | 13b | 13¢c 14

6 3 99 199 |32 |48 |1 27 199 1 2 1 2
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Section 3 — Shocks and risks.

Section 3.1.a The respondent does not know anything about shocks that occurred to the household
during the reference period.

Section 3.1.b When shocks are read out, the respondent remembers that household  experienced
the following shocks:

Brother (ID “4”) and household head (ID “1”) lost their job on a chicken farm, the brother in Ju-
ly 2012, the household head in June 2012, because he got sick. In April 2010 a storm dam-
aged their house.

While they can still deal with the problem, that the household head lost his job, it is really hard
for them, that the brother does not earn money now. They earned 6000 THB (household
head) per month and 4000 THB (brother) per month / 500000 VND (brother), 330000 VND
(father). They did not have to spend any extra expenditure due to the job loss, but they had to
sell one motorbike (value 5000 THB / 5 million VND). The repair of the house cost them 5000
THB/ 5 million VND. For the clinic, the father had to pay 500 THB/ 500000 VND, but luckily
insurance paid for this later

[Enumerator is supposed to go back to 31004, since information provided there is obviously
wrong. — If enumerator goes back to 31004 respondent answers: medium (father), high
(brother)]

only the two household members were affected

The brother went to the province capital to look for a job and (less importantly) used savings
to compensate for income loss; father — used savings to compensate for income loss and sold
a motorcycle.

They did not have to reduce consumption.

The brother found a new job in November 2012; the father is still jobless, but was healthy
again in August. The house was repaired in the same month.

1 2a 3 3a 4 5a 5b 6a 7 8 9 10 11 12

4 1 1 05 12 1 500 0 0 1 16 1 1 11 4

5 60 4 07 12 2 40000/ | O 0 1 8 15 1 2 5
330

6 60 1 05 12 1 60000/ | O 0 1 15 14 1 2 90
600

Hints

Fill the information for one of the two cases of job loss in the given row. Create a new row for
the other case. House damage and storm would be two shocks, but not in reference period.
31004: brother — “1”; household head — “2”

And NOT brother — “2”; father — “1”; certainly the respondent states brother — “2”; father — “1”,
but the information obtained in 31005a and b clearly shows that it is the other way around.
When having asked 31005a and b, the enumerator should wonder whether the respondent’s
answers concerning 31004 were correct and re-ask 31004.
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Section 4 — Agriculture

Section 4.1 - Land

4.1 Land
0z 03 04 03 06 o7 08 0%a 10 11f 11g e 12 13 14
p T 3 2 1 2 200,000 1 3
3 008 1 L 1 2 30,000 1 [ 93

This is the information given for the land from the Household information sheet.
Please enter the necessary data in the table and complete the section. Why is the first row grey?

The second plot can be identified by the household, but the area is 10 rai (Th)/ 5000 m2 (VN). In gen-
eral, he confirms the data of the household information sheet, but he thinks, that the current value is
around 50 000 Baht/ 50 million VND higher than reported.

The third plot he is not able to identify.
Since this year they additionally use a plot (8 Rai/ 10000 m2) of their neighbours for their rubber plan-

tation. They estimate the value as 500 000 THB / 30 million VND. They do not have to pay for the
land, which is in the village (500 m away) and not irrigated.

2|3 3a |4 |5 6|7 8|9 10 11f | 11g [ 11e |12 |13 | 14

2110 1 312 112 250000 1 3 6

3|5

4|8/ 1 419 500000 / 0 99 |99 |0 1 05 |1
10 3000

Hints: Although the information is given in the household information sheet, the interviewer should ask
for all details. Grey: was wrong information in the last wave.

Section 4.2 - Crops

The family grows Jasmine rice on 40 rai / 5000 m2 of plot 1. The rice grows from June to November,
they produced 2 Tons last year, whereof they consume 810 kg, gave away 10, had to pay 200 THB to
the family that gives the land for the rubber plantation to them, reserved 90 for seeds. They sold 1
Ton of paddy, for a price of 15 THB/ 4500 VND per kg (HINT: If asked for correction, please adapt the
self consumed amount). They have their own machine, for fuels they had to pay 1000 THB/ 100000
VND. The household head and the wife prepared the rice land by themselves spending 5 hours every
day for half a month. Two neighbours helped them for planting, each working 6 hours for 10 days for
200 THB/ 200000 VND. They did not have further expenditures. Now, they still have stored 600 kg.

0 2 3a 4 5 6 8 9 10 11 11b | 12 18 12a | 13a
1 101 | 11 1 4 6 11 2 2000 | 700 | 10 0 200 | O 90
2 15 | 14 16 15b | 14b | 16b | 17 | 18 19 | 37a | 37b | 37c 37d
1 101 |1 1000 | 15/ 0 1 1000/ | O 0 0 30 5
4.5 100
0 2 20 21 38a | 38b | 38c | 38d | 22 | 39a | 39b | 39¢c | 39d | 23 | 24 i%ad-

11101 | O | 4000 | 20 6 0 0 0 0 0 0 0 0 0 0

0 29 |44 |44 |44 |44 | 36 | 45a | 45b | 45c | 45d | 29a | 30a | 31 32 |33

1 /10110 0 0 0 0 0 0 0 0 0 0 1 101 | 600 | 9000

Hints: Unit has to be converted to kg.
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Since they pay in-kind rent for the rubber plantation, this has to be entered in section 4.1 as
well
The price of the stored rice is calculated by the price of the sales.

Section 4.3 - Livestock

Please fill in the table as BEFORE the interview and complete the section.

4.3 Livestock

om0z 1] 03a [11] 09a 10
1 2%uila (¢h) 0 0 00 0
2 Tn i 480 20 1200 0

During the reference period 15 chickens were born, and for home consumption they used 8 chicken.
The value of one chicken is 60 Baht. They did not have any costs.

2 |3 |3 |4 |5 |b5a 6a |7 | 7a 10 |9 | 9a

0 6 8
2 |7 1201120015 |0 0 0 8 |480 |27 1620 |0 |O |O |O |O

Section 4.3 - Livestock products

As livestock product, the household uses the dung of the animals. They produced 100 kg per month,
which they use for their rubber trees. Value is about 1000 Baht/ 1 million VND per Ton. They did not
have other costs.

0 2 4 5 5a 6 7 8 9 10
1 26 1200 1200 1200 0 0 0 0 0

Hints: Dung has to be converted to kg, as described in Code A. The total production has to be calcu-
lated. In section 4.3 chickens were mentioned. Did they not produce any eggs?

Section 4.4 — Fishing and hunting

The household goes fishing every day in their own ponds (no access fee) and harvest 300kg of fish
daily.

Note: Normally the interviewer should ask if this is aquaculture! This does not belong in the section
4.4

If the interviewer does not ask, please try to give extreme answers and some hints that he/she might
notice that this does not belong here. For example: You hire 3 persons, have other very high costs for
the pumps for instance

In addition, in August the whole family went to a forest (no access fee) of your friends which is 5km
away and collected 1 carload of timber to build a house.

Note: only the interview asks if you could convert the carload into kg then answer one carload is ap-
proximately 500 kg

Fuel cost: 20 Baht / 20000 VND

Completely self-consumed

The estimated value of your total output is 250 Baht/ 250000 VND

1a 2 |3 18 | 4 5 6 8 9 10 11 12 12a_ | 13
1 3 |6 5 3 0 Decision of | 08 08 1 20 0 0 12
owner
1a 14 15a 18 16 16a 17a
500 2 0 500 250 250

65




Section 5 — Off farm employment:

The brother started to work as construction worker in November 2012 in the provincial city of the
same district. He does not have a leading position. The respondent does not know the name of the
company. He stays for free in a dormitory of the company and walks from there to the workplace eve-
ry day. He comes back to the village once a week on his free day with the public bus. This costs 20
THB/ 20000 VND. The provincial city is 30 km away, and it takes him 2 hours on the bus. The brother
has a verbal agreement until end of the year and thinks that is ok. He got his job because a friend
works there as well. Before, he always had worked on chicken farms. He earns 200 THB per day, and
does not get additional bonuses or holiday.

2a |3 |4 |5 5a | 6 7 7a | 9 9a | 8a | 10a | 11a | 14 14a

1 4 11]..... 19 |2 6 98 | .... |3 1 26 |20 |4 4

22 (3|4 (15|16 |17 |18 (19|21 [22 |23 25|26 |27 |27b|27c |28 |28a |29 |30

1 14113 4 |4 0 2002 |1 9 |26 |6 |1

Hints: For some information, it was necessary to cross check with section 3 and get the information
from there.

Section 6 — Self employment

The daughter of the household head (ID 3) has a small food shop in the village next to their house,
since 2005. At the beginning they had to buy a small vehicle and all what is needed for cooking. They
paid around 10000 THB/ 10 million VND by borrowing from relatives abroad. She is not registered.
This initial investment was money send by relatives. The main reason for starting this business was
the insufficient income from farming. Sometimes her mother helps her. Since she cooks well, many
persons from the village eat at her food shop daily; she has around 50 customers per day. One dish
costs 20 Baht/ 20000 VND. Nevertheless, the household members usually do not eat there. Input
costs for one dish are 15 Baht/ 15000 VND, and the daughter buys everything in the village. She
works a lot, around 12 hours a day, but on Mondays usually the shop is closed.

22a|3|4|5 |5a |6 6a |7 7a|8|10[10a |9 |1M1a |12 |12a |13 |14 [ 15 | 16a
1 |3(1].../14]2005|3 |10000|6 |7]|... |1 1 1 10 0 |0 2
16b |2a |3 |4 |17 (18 [ 19|20 |21 |22 2324|125 |26 |27a|29 30 | 30a | 31
0 1 /3/1/0 |1 |0 |O |O |1500]1 |2 |100]0 |O 300002 |O 2

33 34 |35 36a 38 40b 40a 39

22500 | 100 | O 0 7500 | 12 26 12

Hint: For Q38, it is necessary to cross check with Q29, Q21 and Q33 as average monthly cash profit
or loss (Q38) should equal to the balance between average volume of sales (Q29) and average
monthly payroll (Q21) and average monthly cost of input purchase (Q33).
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Section 6.2 — Investment

For their rubber plantation the household bought a tractor last year in October. It is a small tractor with
two wheels and 30 HP. They got it from a friend, very cheap for only 15000 Baht/ 15 million VND, but
they think they will be able to use it, until the rubber trees will be grown up in 7 years. The tractor will
make the work much easier, and they think it was a good idea to buy it. But they had to take up a loan
for buying it.

They did not sell anything

Did the respondent forget any investment items? Where do you have to check? For this information
only in fill what you know. For the rest you would have to ask. Which additional cross checks are nec-

essary?
2 3 3a 4 4a 5 5a 6 ba 7 8 9 10 11 12
1 14 1 1 30 2 10 2012 | 15000 | 2 7 5

Hints: Did the respondent forget any investment items? Where do you have to check?
Land: section 4.1 — only rented, no investment
Permanent crops — rubber plantation.
Livestock — nothing in the last year, no investment
Divestment: the household sold the motorcycle.
Cross check: the household has to mention the tractor in the asset section, and the loan in the
loan section.

Section 7 — Financial situation

Section 7.1 — Borrowing & Lending

7.1.a Borrowing
0: 04 5 06a 06b 06c 07 0g 09 10 11 12 13 14 14a 14b 16 17
1550 200000 2 7 8§ 2 92 11 2009 13 1 5 1 1 11 1
25 15U 20000 5 2 9§ 2 60 1 2010 1 1 5 1 1 4 1
15a 15b 19a 19b 20 21 22 23 24 PLI 12
34,154 1 3154 451,846 1 830,000 1 3 5 187 3 20
0 0 0 20,800 7 1 3 5 2002 D 3

When asking, the respondent mainly gives the same details on the loans again. For the first loan they
again paid 34154 Baht this year.

As initially agreed with the lender, the household paid back the second loan in 2012, but actually 2
months too late (in March)

To pay back the debt, the household had to take up an additional loan. Originally they had planned to
pay back by remittances, but because the relatives stopped sending money, they could not. They
went to a commercial bank, but they did not give the loan to them. At another commercial bank they
were able to borrow a loan of 10000 THB / 10 million VND with an interest rate of 10% per year, with
duration of 2 years. The repayment is 5000 Baht/ 5 million each year plus interests. No collateral was
needed. They had never before borrowed from this bank. It is located in the provincial capital (40
minutes).

The household did not lend any money.

They did not apply for a loan without getting it.

They did not default any payments.

3[4]5 6a[6b [6c[6d [6e[7[8]9 [10]11 12 [13 [ 14 [ 14a [ 14b [ 16
115[200000 [2 |7 [9 2 52 |11 [2552 [13 |1 [5 |1 1 11
2|5[20000 |5 [2 |9 2 60 |1 [2553 [1 [1 [5 |1 1 4
3]4]10000 [5 1 64 (032011 |2 [1 |5 [1 1 10
|17 [3[15a [15b [19a [19b |20 [ 21 |22 [23 [24 [25 [31 [32
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1 1134154 |1 68308 | 147692 |1 630000 |1 3 5 2530 |3 20
1 2]20800 |1 20800 | O 7 1 3 5 2545 | O 3
1 3]0 0 11500 | 11500 2 0 0 2554 | 5 40

Although information is already given, interviewer should ask again, and check for plausibility
with the information sheet.

Loan 1: Last year the debt was calculated to simple (200000 + (200000*0.11) *13 = 486000
total debt). Ask again and try to calculate correcily.

The respondent says that they borrowed because of a shock (relatives stopped sending re-
mittances). But cross checking shows that the shock is not reported in section 3.1. Please
add the shock there.

The remaining debt is 11500 = 10000+ 10000+0.1 for year 1 + 5000+0.1 for year 2.

The respondent said that he paid back 2 months too late. So 7.1.1 should be filled out.

The respondent said, they tried to get a loan from a commercial bank, but did not. So 7.1.lI
must be filled out.

The land of the collateral of loan 1 is not included in the land section. Ask again.

In section 3 they said to have taken a loan to deal with the price increase. Why is this loan
not included in this section?

The respondent tells you, that they have 1 bank account, which at the moment, contains 5000 THB/ 5
million VND. A year ago they still had 1000 THB/ 10 million VND. They withdraw once and did not add
any money. They have the account at a commercial bank in the provincial capital. They get 1% inter-

ests.
0 (12 13 | 14 15 16 17 5 18 19 20
1 Bank account1 1 5000 | 10000 1 0 64 5 40 75

Hints:

e All other rows (1-8) should be filled out with Q13 = 2
o The interests are calculated using an average of savings (10000+5000)/2= 7500
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Section 7.2 - Public transfers

The mother of the respondent (ID 5) receives support for the elderly. Usually this is 200 Baht (200000
VND)/ month but she did not yet receive the amount for March and April.

0 1 2 2a 3 6

1 5 65 1 2000 02

Hint: only the actually received amount should be entered.

7.2. B - Insurance
The respondent says, that they do not have any insurance

Hints:
Cross check! Do you remember the respondent talking about a health insurance in the shock section?

Section 7.3 Taxation
1) The respondent tells you that he/she spent 30 Baht (30,000 VND) on taxes for their House

per year.

2) The respondent further spent 30 Baht (30,000 VND) per year on garbage tax.

3) The respondent tells you that he is paying taxes but does not know the exact amount of
money he paid.

Solutions:

1) You fill in the 30 Baht (30,000 VND).

2) You do not fill in the 30 Baht on garbage fee because this is not a tax but a fee.
3) You fill in “Don’t know”.

3 4 5 6
1 3 30 1
2 4 Don’t know 3

Hints:
e Cross check with section 4.1 if the respondent owns land. If yes, ask them for taxes on

land they might have paid.

¢ Cross check with sections 5 and 6 if a household member is employed in a business that
is paying taxes. Hence, that household member may pay Personal Income Tax.

e Cross check with section 4 and 6 if the respondent is running an own business. If yes,
ask for taxes paid on inputs used in the production process.
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Section 8 — Expenditures

- The respondent cannot distinguish the different food items, but he thinks that they spend around
2000 Baht/ 2 million VND on food per week for the 6 persons in the household.
- The household had the following expenditures for non-food items:

e Personal care supplies: 50 per week

Clothes: 5000 per year

Shoes: 1000 per quarter year

Accessories: nothing

Detergent/washing powder: 200 every two weeks
Electricity: 2000 per month

Water cost: 300 every two months

Liquid propane gas: 400 per months

Charcoal: not used

Hair dresser: not used

Fill in 80002 for food and non-food items.

0 1 3 2

1 15 8000
2 17 500
3 18 750
4 19 400
5 20 2000
6 21 150
7 22 400

Hints: all costs have to be calculated per month. The total non-food has not to be entered, but
might be used for checking plausibility of values.

- The household had the following expenditures for transport and communication:

e Fuel for car: no car

e Fuel for motorbike: 250 per week
e Public transportation: 10 per day
e Telecommunication (includes mobile credit): 80 per week
e Other transportation and communication: nothing
e Maintenance for car: no car
e Maintenance for motorbike: 2000 per year
¢ Insurance and tax for motorbike: not paid
0 1 2
8 126 1000
9 27 300
10 28 320
11 127 2000

Section 9 — Household wealth

Section 9.1 — Household wealth

The household owns the following items:

Radio(s): 2 in household, newest is 2 yrs old, cost then 350, would cost now 50, private
use
Stereo (s): 0 in household
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e Regular Phone (s): 0 in household

e Mobile Phone (s): 2 in household, newest is 1 month old, cost then 2000, would cost now

2000, business use

e Refrigerator (s): 0 in household
e (Gas Stove (s): 1, in household, is 5 yrs old, cost then 500, would cost now 200, private

use

o Water heater (s): 1 in household, broken, is 1 yrs old, cost then 350, would cost now 50,

private use

e Washing Machine (s): 0 in household

34 Water heater (s)

1 2 3 4 8
29 Radio (s) and Stereo (s) 2 350 2 50
30 Regular Phone (s) 0
31 Mobile Phone (s) 2 2000 0 2000
32 Refrigerator (s) 0
33 Gas Stove (s) 1 500 5 200
0
0

35 Washing Machine (s)

Hints: The water heater is broken and hence should not be counted.
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